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UGC NET PAPER 1 OCTOBER 08, 2022 SHIFT 2 ECONOMICS QUESTION PAPER

Subject : 12_GP_SH2_Set1_A

Question ID:- 569

The following table shows the percentage (%) distribution of total population. literate males
and literate females In six cities A-F. In all six cities together. total population. number of
literate malez and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively,
Ratio of males to females among the total population 1s 3:7. Based on the data in the table.
answer the guestions 1-5:

City-wise Distribution of Population

; {%s) Population | (%) Literate Males | (%) Literate Femalez
. fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

c 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

7 10% 15% 10%

f i [} b1 o ) = - o T " o T [a © £t ¢
=g dierel ° 3F Te0 ACF 3 FiF aaed], 9EE 3590 AR TN =D 6 dao TaEm (%) g
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(%) ST | (%) =vEE O | (%) me

(Ls=599) | (40=mg B 9) | (25 =g 9 1)
A 16% 18% 24%
B 15% 12% 13%
C 21% 20% 12%
D 156% 16% 16%
E 20% 19% 20%
F 10% 15% 10%

The difference between the illiterate population and the hiterate population of City C 18
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Options:-

. 3.5 lakh 8.5 HMg
Option ID :- 2273, '

. 9.5 lakh 9.5 =g
Option ID :- 2274, ,
105lakn 1027

Option ID :- 2275,

Option ID :- 2276,

Question ID:- 567

The following table shows the percentage (%) distribution of total population. literate males
and literate females in six cities A-F. In all s1x cities together. total population. number of
Iiterate males and number of literate females are 1.5 crorve. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population is 3:7. Based on the data in the table.
answer the questions 1-5:

Citv-wise Distribution of Population

~1- {®s) Population | (%) Literate Males | (%) Literate Females
= fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 158%

C 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

34 10% 15% 10%
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5 % = At

(%) s | (%) =vew 9o | (%) TEw e

. (Ls=s9d) | (40=mE89a) | (2sAma g 4)
A 16% 158% 24%
B 158% 12% 13%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%
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Number of literate males of City E as a percentage of number of literate females of city F 1s

77 E F mE 55 1 @ v Foh man e A e e i B

Options:-

. 240%

Option ID :- 2265,

. 118% ,

Option ID :- 2266,
304%

Option ID :- 2267,

Option ID :- 2268,

Question ID:- 570

The following table shows the percentage (%) distribution of total population. literate males
and literate females 1n six cities A-F. In all six cities together. total population. number of
literate malez and number of literate females are 1.5 crore, 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 3:7. Based on the data in the table.

answer the questions 1-3:

City-wise Distribution of Population

{®2) Population

(%) Literate Males

(%) Literate Females

i fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)
A 16% 18% 24%
= 15% 12% 15%
C 21% 20% 12%
= 15% 16% 16%
' 20%, 19% 20%
T 10% 15% 10%

prepp



www.prepp.in rrepp

F=ieifiga diferR 4 @2 9 A-F 0 o7 S9Eed, diEn Al 3 AT e o = Tiaerd (%) gerE
T B | Tt TE wE O e Fe S, AT TR ] A A war e i den #ee 1.5 ws,
40 FTE T 25 ©0E 7| Fel SAEEA] § W S =4 w1 S 807 2| aifershl 8 S h SEE WO -
E;E:-_TIT?.‘H'IF-_-F?_:

AT I AR T

(%) s | (%) =vew 9o | (%) TEw e

(L35 d9E) | (40= g 9 H) | (25 @ 9 9)
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%

Numbher of literate males of City D 1s.................70 more than the number of literate females
of City D

sr D 7 = A o g § o D F e IE SR S TR Wieee S R

Options:-

. 160 ,

Option ID :- 2277,
. 60

Option ID :- 2278,

Option ID :- 2279,
120

Option ID :- 2280,

Question ID:- 566
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The following table shows the percentage (%) distribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1s 8:7. Based on the data in the table.
answer the questions 1-3:

City-wise Distribution of Population

.| (%o) Population | (%) Literate Males | (%) Literate Females
o {out of 1.5 crove) {out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 2% 18%

C 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

B 10% 15% 10%

A e B 2 o A-F 9 Fe S, oER T S O1ET T R A wiee (%) e
T R | B wE U © THETE Ter SETE, HUA TR S HiT WA T SR Hm w A 1.5 S,
10 =T W 25 WS | Fe FEe § T i G e 807 2| difer # SR F SNEW WO -
S & = AAT:

T A AT

(%) s | (%) =vee 9o | (%) e e

s e i) | aoraaan) | (2s@ud )
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 1295
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%

The 1lliterate population of City A 1z

ot A i s sEe e 27
Options:-
10.8 lakh 10.8 =g

Option ID :- 2261,
. 14.21akh 14213
Option ID :- 2262,
. 16.8 lakh 16.8 =3
Option ID :- 2263,
_ 18lakh 18V

Option ID :- 2264,
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Question ID:- 568

The following table shows the percentage (%) distribution of total population. literate males
and literate females In six cities A-F. In all six cities together. total population. number of
literate malez and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively,
Ratio of males to females among the total population 1s 3:7. Based on the data in the table.

answer the questions 1-3:

City-wise Distribution of Population

-1- {%s) Population | (%) Literate Males | (%) Literate Femalez
. fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

c 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

B 10% 15% 10%

f o [} b1 b o i * - T = T [a r - ¢
TR dierel # 3E Te0 ACF 3 Fi e, 95 50 AR TN =D S dao TaE (%) g

T 2| mft T2 vEA O e o SEEeE, e TR O S A AR B R S w1 S,
40 =E 3 25 WE 7| e SEE § W S0 A w SEa 807 #| aierhl § S R S WO 1 -

S % = AIAT;

SEE T TE-aR G

(%) EE | (%) = wo | (%) mew e
. (Ls#us=d) | (40=m@d4) | (25 =g 4 9)
A 16% 18% 24%
B 13% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%
Literate population of City Eis....................% of the populationo of E.

~ = v d ~ = -0 r Eo
EIFC I D 0 e 1 bt e | e =t D 2 B B P £ M o) O o e B [ S T =

Options:-

.40

Option ID :- 2269,

. 64

Option ID :- 2270,
26

Option ID :- 2271,

Option ID :- 2272,
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Subject : 12_GP_SH2_Set1_B
Question ID:- 610

The Acts of incorporation passed in 1857 pronided for the estabhshment of Unmiversities of
Caleutta, Bombav and Madras on the model of:

1857 ® Wi HEERE AEETH ° HE EvalgaeE F UEEd W OSNOE wersl, "6 9 65 F
fSvataen=aT 1 =a79 = TEeE T TE ot

Options:-

. Cambridge University  %fr gfafds
Option ID :- 2437,

. University of Harvard FHAEA AF TEE
Option ID :- 2438,

’

Option ID :- 2439,
University of London A FEaEe

Option ID :- 2440,

Question ID:- 598

The Microsoft Office Powerpoint. there are two types of shde orientation that are supported.
What are thesze orientation types?

TS ETE. A% TETETE 6, G TEE & TEI5E ATSEE SHE 2| 3 AT T R H B Y

Options:-

Option ID :- 2389,

Upright and Landscape Ee i qo7d
Option ID :- 2390,
. Portrait and Facedown #9-f97 317 Tos=r=
Option ID :- 2391,

Landscape and Facedown Yz I FHSEA

Option ID :- 2392,

Question ID:- 575

What does the symbol@:@ sigmify?

AT @ {Fafetag 0§ TFoF 378 9 0 2 7

Options:-
copyrighted material ™ TR S T

Option ID :- 2297,
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. copvable material WAt TE HEEH
Option ID :- 2298,
. creative commons T wE
Option ID :- 2299,
. COpVINg COmMmons FIE HE
Option ID :- 2300

Question ID:- 597

Given below are two statements ;

Statement I : The concept of cyber technology 1z desembed as a wide range of

networked communication devices.

Statement I1 :  Many sociologists are concerned with people becoming too dependent on

technology.

In the light of the above statements. choose the correct answer from the options given helow :

4= 7 Fom oo #

FuF 1:  HEE U T ST F G9W 39 F A2 F UF SA9F 09 F =9 8 JUF A A
B
I FA F OAF °, A9 5 T w8 § w3 =999 i
Options:-

Option ID :- 2385,

Both Statement I and Statement II are false Fo I ot TL o sameg =

Option ID :- 2386,
Statement I is true but Statement IT is false Fou 1 meg 2, @A 594 11 =90 2
Option ID :- 2387,

Statement I is false but Statement IT is true - .
w5809 7, oA s DA =

Option ID :- 2388,

Question ID:- 587
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Find the next term in the series given below

5,9, 14, 20, 27. 35, ?

H1= A1 T rEen B Ae 9 39 Shifan

59,14, 20, 27, 35, 7

Options:-

. 62

Option ID :- 2345,
70

Option ID :- 2346,

Option ID :- 2347,

42

Option ID :- 2348,
44

Question ID:- 599

Consider the worksheet below:

A B C | D|E|F
Data | Result
4

e | D | [ |

If a uzer wantsz to do the following:

Tre=AfeTEs FETEE W == i

A B C|D|E|F
-4

[ =0l e

F Tom T= I FH A G 2T w1 B

Options:-

Option ID :- 2393,

. =IF (A2<100. “Within Budget”, "Over Budget”)

=IF (A2==100. "Over Budget”, "Within Budget™

(1) Print “Within Budget” in cell B3 if the value 1n cell A2 1s less than or equal to 100,

i11) Print “Over Budget” in cell B3 if the value in cell A? is greater than 100: then what
formula would the user have to tvpe in order to achieve the above stated goals?

(1) =% F18% A2 %1 9F 100 B 59 A7G] 900650 2, 71 FEF B3 § fe “Em aee

(ii) =fz FieF A2 #1199 100 ¥ 1040F 7, 71 F2F B3 8 02 o 792, & 394% = W WH w5

= 3¢ wF (A2<100, “‘Tafer w=e’’, “wimm )

’
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Option ID :- 2394,
=IF (A2<=100, “Over Budget”. "Within Budget”) = ¥ UF (A2<=100, ~"#= 732

Option ID :- 2395,

Option ID :- 2396,

o e Lep "
—IF (A2<=100, “Within Budset”, “Over Budget”) =% U% (A2<=100, "l s

..' s . ”]

Question ID:- 608

Which of the following umiversities have been recognised as Institutes of Eminence?
(A) Banaras Hindu University

(B)  Amrita Vishwa Vidva Peetham

(C) Calcutta University

(D) Cental Umiversity of Hyderabad

(E) Jawaharlal Nehru University

Choose the most appropritae answer from the options given below :

FeteEa 2 7 A favateeal ©1 3R 959 % 59 F 959 51 T8 7

(&) wEH T favataaee
i~
(B S TETaEEe T

4 . il £
(C) E e INCEEI CE

. T = oy
(D) Hegod A HIE 75TEE

(E) FAETAT AEE [AvaiaEned

&n u fae § | TE 39 #1999 S

Options:-
A Band E Only Fa9 A, B¥ I E

Option ID :- 2429,
A BandD Only FaF A B#ER D

Option ID :- 2430,

Option ID :- 2431,
A.B, Cand D Only FaaA. B.C#RD

Option ID :- 2432,

Question ID:- 576
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When a research study 1= conducted to know about an unknown area and collect information,
1t 1 known as

oo 9 =9 § 59 A 2 7

Options:-

Option ID :- 2301,
Feasihility study =R A5

Option ID :- 2302,
Explanatory research STATTHE g

Option ID :- 2303,
Exploratory research T A

Option ID :- 2304,

Question ID:- 585

Identity the correct sequence of the following elements 1n the mass conununicatlon process.

{A) Selective exposure

(B) Selective attention

(C) Cognitive dizssonance
(D) Congruent information

(E) Confirmation of bias

Choose the correct answer from the options given below :

hulfh [ Sy [ el e 2 T =
FA—ET WA o AT qod1 F Hal SFIE i aaiE—

(A)  ITHd TEEE

{B) A FETE
(C)  TFFEEE =g

(D)  =EFEE g=A0
(E) wam= 11

5w el § § 5E 39 W =29 R

Options:-
. B.ADCE ,
Option ID :- 2337,
. AECBD
Option ID :- 2338,
. C.D.EBA
Option ID :- 2339,
E.C.ABD

A ’

Option ID :- 2340,
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(A)
(B)
(C)
(D}

Question ID:- 592

Which of the following forms of categorical propostitions 1s valid?

Some Sisnot P
Some S1= P
NoSis P
AllSisP

Choose the correct answer from the options given below

(A)
(B)
(C)
(D)

Option ID :-

- [ b W £ - = * b S S -
R R = I e e T e E = e S T e R R E T = ik = = e

F5 S P AR
gﬁﬁsiPé
1% i S P H 2
afi SP %

fen o Tmed | W gE 39 F 9 A

Options:-
. ABandCOnly 7 AB3RC
Option ID :- 2365,
. B.Cand D Only Fa7 B, C #t D
Option ID :- 2366,

A CandD Only Faa A C#TD
Option ID :- 2367,

= Fi

. Page Overlay Protocol

Option ID :- 2397,

Question ID:- 600

To receive email. you need an email provider. a connection to vour provider and an email
application. If your Internet Sevice Provider (ISP) has a POP sever. vou have a wide choice of
email applications,

What does the acronym POP stand for?
2| Jlg #h SEZ T TS (H0E U 1) % wrE fiedl a9 2 A1 AT O SEE Ui

= %
=9 [dFod _.'9|

=R W FiEA w9 =Y w2t

Options:-
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Post Office Protocol e ANE M2

Option ID :- 2398,
Power Outage Protocol YT STTEA TR

Option ID :- 2399,

Posztal off Protocol U2 1 W12

Option ID :- 2400,

Question ID:- 603

Wind energy

{A)
(B)
(C)
(D)
(E)

Choose the most appropriate answer from the options given below ;

is an intermittent energy

1s extremely useful at remote and 1solated places
doez not depend upon weather

iz a clean energy

does not have anyv enviornmental impact at all

TE H=A

(A) TR SR R

(B) T 3T U TAEl H e I A

(C)  dteg o s = =i 2l

(D) TF == = Al

(E) =1 Wi v faese 94 2|

90 770 faheal ® © A I 99 i
Options:-
. A B.COnly FIT A B, C

1

Option ID :- 2409,

Option ID :- 2410,
B. C.D Only Fa9 B. C. D

Option ID :- 2411,

C.D. E Only ¥ C.D.E

Option ID :- 2412,

Question ID:- 577

A true zero point is the feature of

T AT T 6y e 5 A e wa R
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Options:-
. Nominal scale M e
Option ID :- 2305, '
. Ratio scale FAAW TR
Option ID :- 2306,

Interval scale AT T

7

Option ID :- 2307,

Option ID :- 2308,

Question ID:- 571

Which of the following is a teacher-centred method ?

s § 9 1 O T maE—Fe | 22

Options:-
Problem solving T TETHE

Option ID :- 2281,

Discussion method =T T
Option ID :- 2282,

Inguiry approach iy ST
Option ID :- 2283,

Option ID :- 2284,

Question ID:- 601

Given below are two statements :

Statement I :  Bioconcentration in humans can oceur due to consumption of fish,

Statement 1T :  Bioconcentration is the tendency of hazardous substances to accumulate

in human tissues

In the hight of the above statements, choose the correct answer from the options given below :

prepp
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g 5 e oo A

F99 11 TIHE H Tl & ST % FE0 AG-9050 A 26l 2

T I : SI-OTST SEEEE TNl T OFE SaF | UFEE BE F TaE 2
I FUH F AR 0, A4 50 0 SEen § O W 30 R =99 RITA
Options:-

Option ID :- 2401,
Both Statement I and Statement I are false =9 I 37 I =91 2999 7
Option ID :- 2402,
Statement Iis true but Statement II 1= false Fuq | 9 2, w1 T4 11 35 7
Option ID :- 2403,

Statement I is false but Statement ILis true  #9 L 37503 7, w4 #44 11 77 7

Option ID :- 2404,

Question ID:- 580

Given below ave two statements :
Statement [ : Triangulation is described as that of researchers taking different
perspectives in answering research questions.

Statement TT :  Triangulation is expected to produce knowledge from different insights
to promaote guality research,

In the hight of the above statements. choose the most appropriate answer from the options

given below :
s m?.

2 SN E i o o 11 k| B s e e B - £ e o e e e i e L 1

FeA I T @ auan 6 90 2 T =8 e we F gl ¥ o B s a mow

T =)
ITIE FHUA F A 4, 4 50 Twew 4§ geE T0gE T 1 wEE A
Options:-
Both Statement I and Statement IT are correct F99 1 30 [ =M 3=t 7

Option ID :- 2317,

prepe
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Both Statement I and Statement II are incorract FoE I ot T, oea &

Option ID :- 2318,

Statement I is correct but Statement IT 1s mmcorrect Fo7 I 581 2, =T %59 Il e =

Option ID :- 2319,

Statement 1 is incorrect but Statement I1 1= correct FoH I 7o &, A w0 [LHE 2

Option ID :- 2320,

Question ID:- 596

A destructive computer program that masquerades as a useful application is called

vy Taeaes Foger wEd F =ienad 3 9 99 a0 A 7 A U YA SE0ErT e =l 87

Options:-

Option ID :- 2381,

1

. Worm a9 }
Option ID :- 2382,
Trajan EiEC

Option ID :- 2383,

1

Firmware i T

Option ID :- 2384,

Question ID:- 574

In the context of curriculum. which of the following are correct?

(A)
(B)
(C)
(D)
(E)

Curriculum should be modified regularly

Curriculum should have theoretical concepts only

Curriculum should be derived from constitutional imperatives of the country
Curriculum should be made as per needs of mdustrv & society

Curriculum should be teacher-centric.

Choose the correct answer from the options given below :
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(A)  TEEEAl F EE B A S e S e
(B)  Uie=r=Al § Hae Hgiiae Hhed B Bl =)

(C)  T==r=41 T =51 ] SauEF SHaEaEl § Fee e S =

(D) W=l SE A EEE A AEEEATA F SR S S =)

(E) U=9=4! WEF-F5a 51 =TT

ou U e 8 ° @R S R 99 i

Options:-

. A. D and E Only Fad A DIFRE
Option ID :- 2293,

, CandD Only = C ¥ D
Option ID :- 2294,

Option ID :- 2295, _
. ABCandD ABC#TD

Option ID :- 2296,

Question ID:- 586

Find the number that must be added to the terms of the ratio 13:25 to make 1t equal to 7:10.

T WA A R (99 13:25 F ST 710 % S F 6 e S wme

Options:-

Option ID :- 2341,
11
Option ID :- 2342,
L 16
Option ID :- 2343,
13
Option ID :- 2344,

o

o

Question ID:- 573

prepp
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a

Which of the following are commeon eriteria of tests?

(A)  Administrative condition

(B) All guestions of higher order thinking skills.
(&) Time Iimit

D) Nature of guestions

(E) Marks allocation

Choose the correct answer from the options given below :

g © o TiET F o geas B E A

‘..:!L.ﬁ TaTTH ri?i' Ell ﬁ—j-ﬁ?{

(B) I a0 Hioe & Out e
(C) = g
(D) Tl i IED A

(E) 5% A

oo e Tt § | WE S =9 il

Options:-
,A C.DOnly FFA A CHTD

Option ID :- 2289,
B.C.DOnly #==B.C#TD

Option ID :- 2290,
B.C.Dand EOnly #a=B.C.D #TE

Option ID :- 2291,

Option ID :- 2292

Question ID:- 572

Given below are two statements : One 1= labelled as Assertion A and the other 1z labelled as

Reason R.

Assertion (&) :  One of the objectives of higher education is to promote critical and creative
thinking ahilities in students.

Reasons (R) : Cntical and creative thinking abilities are developed by rote learning.

In the light of the above statements, choose the most appropriate answer from the options

given below :
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=9 71 W9 50 0 7 - v sgEeE (Assertion (A)) F =9 I REE 2 Al = S FEU (Reasons (R))

FEIH

HATFTT (A) = a1 1 T T T A=A E J g = i araans F Age
T 2

F97 (R) - STATEATAF 7 FFATEE =04 J0gam 729 F G EHEE 7 El 2

IYIE FUA F A 5, F 50 7 gEew § ° g9h 9gE = 994 Fian

Options:-

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 57 (R) =F1 787 7 317 (R), (A) = 9 =m= 3

Option ID :- 2285,
Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)

(A) =1 (R) =/ @1 7, =i (R), (A) =il =9 =me T3 7

Option ID :- 2286,

Option ID :- 2287,
{A) is not correct but (R) is correct  (A) &1 971 7., #iiF (R) 751 £

Option ID :- 2288,

Question ID:- 595

The proposition- ‘all things are non-eternal. because thev are knowable’ iz fallacious because

. o s Sy T e
AT OH T -9 AT =, W 9 T R S dEis-

Options:-
. The middle term is non-exclusive. HEH W -5 2
Option ID :- 2377,
. The middle term is too narrow. HEAR T AT T 2
Option ID :- 2378,

The middle term 1s too wide HET 9T SAAAE 2

Option ID :- 2379,

Option ID :- 2380,
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Question ID:- 581

Which of the following 1= a semantic barrier?

Tretferian @ & w9 o o s 22

Options:-

. Blurred image on television ZEAE W g ==
Option ID :- 2321,

. Unclear prinfing in newspapers TN 99 B T8 ST F
Option ID :- 2322,

7

Option ID :- 2323,

Bedundancy in writing  femEe 9 =Ei=a

Option ID :- 2324,

Question ID:- 602

Given below are two statements ;: One is labelled as Assertion A and the cther 1= labelled as

Reason R.
Assertion (A): Large scale dams also cause the Green House Gas emissions.
Reasons (R) : When submerged vegetation decays, 1t produces carbon diexide which 1s a

green house gas.

In the light of the ahove statements. choose the most appropriate answer from the options

given below :

A 91 F99 B0 0 F - Oh ATaHe (Assertion (A)) % =9 H f@nEh 2 A T 34 + 0 (Reasons (R))

ATHFI (A) TaomeT &g W =E AE1 % IS F U FEE B a9Fd A
Frm (R) 9 7 A9 a9 W 49 = R A9 FeE S SeEEs 3999 Bl 2 oA T uE
qHETE 71 2|
EV L T Ok e e o e P 11 ] | o 2 | fR= = =t e L 0 B B e
Options:-

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) W (R) =91 581 2 377 (R). (A) F1 551 =0 2

Option ID :- 2405,
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (4)
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(A) 37 (R) 5F1 73 £ =i (R), (A) =1 T8 = 791 2
Option ID :- 2406,

(A) 1= true but (B) 1s not false (A) WET 7 = (R) B8 7 7

Option ID :- 2407,

- ; Ayl 3R 3
(A) 15 not false but (R) 1= true (A) ==l = =% (R) @81 2

Option ID :- 2408,

Question ID:- 591

Which of the following propostition is contrary to the proposition ‘All women are honest™

F=teiiEd HH o1 T5ad | H9] SEeT SRR ¢ aFaEd F Emwid 27
Options:-

= £ sl LR
. Some women are not honest. TS HIgeTE FHHGH &l 2 1 =1

Option ID :- 2361,

(]

Option ID :- 2362,
" ! . i T
Some women are not dishonest, T HIEA, S5 Arl 7l =

Option ID :- 2363,

No women are dishonest. T Hieell segE T8 ?‘Fﬂ iR

Option ID :- 2364,

Question ID:- 604

Indian National Amblent Alr Quality standards stipulate the maximum permissible limit of

annual mean concentration of PA=s to be

T TR T 9 TUEAT SR § AET 08 G0 51 S o ATasas s JiE A

Options:-
G0 pg/m?3
Option ID :- 2413,

45 ug/m?

Option ID :- 2414,

Option ID :- 2415,
25 pg/m?

Option ID :- 2416,
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Question ID:- 609

Which of the following recognised for the first time that the government should give ‘frank
and cordial support’ to female education and take effective measures for its expansion?

ffieiEs B 9 TFeA UAA 91 T5 96 97 T SURE gE SiEen e § T UE Fied g 59 AT A
T THF (9 & Tem TEE 39 w1

Options:-

Option ID :- 2433,
All India Women's Conference e == m,_" O FE

A )

Option ID :- 2434,
The Woods Despatch = 934 =609
Option ID :- 2435,

. . I
__— : . VA FIEEA ATF FHA
National Council of Women =

Option ID :- 2436,

Question ID:- 579

Which of the following are unethical in the context of research?

(A) Seeking informed consent of respondents.

(B) Offering incentives to respondents,

(&) Coercing respondents for sensitive personal information
(D) Hiding the research purpose from respondents.

(E) Maintaining confidentiality

Choose the correct answer from the options given helow :

o F Hed B fAeeigs ¥ 8 e Y 16T 27

(A)  TEEEAT Fi T TR T F

(B) =il Fl UIeHTES F TEATE vl

(C) STEATHAT 0 GaeAviel 49T =1 F 70 ga7d STl
(D) ST B " u=ETEE e

(E) TS w41 A AT

Tom Tu fakea | TR 39 R =99 R

Options:-

. A B.COnly Fae A.B. C
Option ID :- 2313,

. B.CDOnly #@B.C.D
Option ID :- 2314,

1
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C.D.EOnly #a5C.D.E
Option ID :- 2315,

Option ID :- 2316,

Question ID:- 589

In a certain coding scheme, 'UNIVERSITY 1= coded as "EIINRSTUVY', How INSTITUTION
shall be coded in the same coding scheme?

feft 37w %2 25 § ‘UNIVERSITY #1 ‘EIINRSTUVY % =9 5 3z =g fa1 71 2| 3201 w7 32
51 7 INSTITUTION T8 Y1 F2eg =41 S 7

Options:-
. IIINNOSTTTU
Option ID :- 2353,

Option ID :- 2354,
INIINOSTUTT

Option ID :- 2355,
IINNIOSTTTU

Option ID :- 2356,

Question ID:- 594

Given helow are two statements :

Statement I . Amstotelian syllogism has three terms.
Statement 1T : Nyava syvllogism has five terms.

In the light of the above statements. choose the most appropriate answer from the options

given below :

CIERA R R i

FoA 1 AR =EETE § AE T A

Fod ;. Far== —===ed 8 6 9% 79 2
I FYA AT 4, 50 e 9§ ged 309 59 1 =91 A

Options:-
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Option ID :- 2373,

Both Statement I and Statement II are incorrect Foa 1 @i [ &F 7o &
Option ID :- 2374,

Statement I 1s correct but Statement II is incorrect Foa 197 2, wiFT Fod I 7w =
Option ID :- 2375,

Statement I is incorrect but Statement I1 is correct  F94 [ 7eid 2, =iw4 %24 1T T 2

Option ID :- 2376,

Question ID:- 605

Which of the following are sustainable Development Goals (SDGs)?

(A) No poverty

(B) Zero hunger

() Employment to evervane
(D) Quality education

(E)  Gender equality

Choose the correct answer from the options given below :

s B O wee o = (A L) R E R
(A) TR wEE

(B) gEHE I

(C) HeE {0 T

(D) TS e

(E) Tom (3=2) 9|ma

Tz e B F mE = = e

Options:-

ABCOnly F=95AB.C
Option ID :- 2417,
A B, C.D Only Fas A B.C.D

Option ID :- 2418,

Option ID :- 2419,
C.D,EOnly +C.D.E

Option ID :- 2420,

Question ID:- 588
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A sum of Rs. 16800 1s divided into two parts. One part 12 lent at a simple rate of interest of 6% o
per annuin and the other part at 8% per annum. After 2 vears the total sum received 1s Rs.
19.000. Find the sum lent at the rate of 6% and 8% respectively.

FIU 16800 I T F1 T HFH H S AT £ TR 0T F 6% Tiqad Hi dEmr s H o 0 39w fow
ST % S 58 H/FT 1 8% Widad il o 9 39w fod S 2| w7 = s W A i e e 19000 94T 2
T 6% A 8% i a W IuW &1 v e o i

Options:-
. 12200, 4600

Option ID :- 2349,
11000, 5800

Option ID :- 2350,

Option ID :- 2351,
4300. 12000

Option ID :- 2352

Question ID:- 590

The average welght of 30 persons is increased by 2 ke, when one of them whose weight 1= 40
kg. 1= replaced by a new person. What is the weight of the new person?

30 =FA & ¥EE F94 0 2 T 1 I w0 R, 99 AR ¥ UF W 99 40 . 7 50 R e
=qih H T 9% 581 S 2| U =91 #1912 f

Options:-

6pﬂonID:-2357,

. 100kg 100 Frermm
Option ID :- 2358, '
102kg 102 femmm
6pﬁonID:-2359, '
. 95kg 95TFammH

Option ID :- 2360,

1

[ ——

Question ID:- 582

In communication, channel richness 12 highest in the case of

T H, S T 8 8 w2

Options:-
. Television 2=
Option ID :- 2325,

. Newspapers ggERE T
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Option ID :- 2326,

Option ID :- 2327,

., Formal reports ARTHISGAIGN

Option ID :- 2328,

Question ID:- 584

Given below are two statements :

Statement I : Language and other symbolic means of eommunication are surely social
products.
Statement IT :  Communication media always provide the feel-good-factor to their users

In the light of the above statements. choose the correct answer from the options given below :

B e T L 1 e

Foq I:  HIEU T A AT 359 AR AT, Wad a8 W AT e 2

o I : |0 Hiis H#ed 9 WA 7 FEs - A e - e Al 2
ST FYA F AF 1, A" {50 T Twed § ¥ 98 3 1 wae Fian

Options:-

Option ID :- 2333,
Both Statement I and Statement II are false o T 5 TI =17 e 2

Option ID :- 2334,
Statement I 1s true but Statement II 1= false Fo TOed 2, ot w2 11 350 2

Option ID :- 2335,
Statement I 1s false but Statement IT 1s true w2 [ 55eg 2, @ Fe Lo 2

Option ID :- 2336,

Question ID:- 583
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Option ID :- 2329,
Option ID :- 2330,
Option ID :- 2331,

Option ID :- 2332,

Kinesies, when used. will communicate a person’s

(A) Social status
(B) Level of iInvolvement
(C) Emotional guotient

(D) Political mohbility
(E) Language ambiguity

Chaoose the carrect answer from the options given helow :

(A)  TEIEE v

(B)  =ffad =F = =
(C)  9EET =i

1D! . o 5 O Jir\"[

(E) AT S

feu o fagemi 3 5 98 39 = = A

Options:-

B.C.DOnly #a=B.C.D

D.C.EOnly %=« D,C.E

A D.E Only FadA. D. E

Question ID:- 578

Which of the following are similarity elements in both qualitative and quantitative research?

(A) Answering research guestions,
(B) Preference to macro data.

(C) Do not suffer from issues of ervor.
(D Importance to fransparency.

(E) Exploration of variation.

Choose the correct answer from the options given below :

prepp
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e 3T HTAE 7Y S 9 FF H 99H e 2 ¢

(A) " 9T F I A

(B) Y= ST A

(C)  HAfe F HE=T 8 W= Tl 2
(D)  OEEREE AR

(E)  &fg=3 F1 73T

e E e e e L e e e e 2

Options:-
A B.C Only Fa A, B. C

Option ID :- 2309,

6pﬁon|D:-2310,
_ADEOny FADE
Option ID :- 2311,

A B.EOnly #39A. B E

Option ID :- 2312,

Question ID:- 607

The most important fallout of universitv reforms under whose leadership. was the first
official announcement of the future education policy of the Government of India to reduce the
tension created among the educated Indians by the process of his uriversity reforms?

Mg B W HEE A9ed T W@l (el U w1 wAleE SEeayn 9oy YEE ST A 9
Tave it <1 wam s =, e T s EvataaeE gae i wEE ® ftae geden o
EERAE C i i e

Options:-

Charles Wood i e 1
Option ID :- 2425,

Hunter 7

Option ID :- 2426,

Curzon EEE
Option ID :- 2427,

Option ID :- 2428,

Question ID:- 593

Which informal logical fallacy is committed in the following argument — ‘No one has shown
that aliens did not create the crop circles. So the ecrop circles must have been made by the
aliens?
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FeteET o 0 FE-1 SFF 75 o9 2- T 9 92 w965 a2 o (e 9 wee
TAT F T A 2| T FAA T SEE T H WEEAT (T g s T A

Options:-

Begging the question e 7
Option ID :- 2369,

Appeal to Iznorance HIH =g AR

Option ID :- 2370,

Option ID :- 2371,

Appeal to authority TR 75 AW

Option ID :- 2372,

T o s B e B

Question ID:- 606

Previous National Education Policy on Education-1986 was modified in the vear;

Torey v et T v iid- 1086 R o A o oEritae e e A

Options:-

. 1990

Option ID :- 2421,

Option ID ' 2422,

. 1987

Option ID :- 2423,
1996 ,

Option ID :- 2424,

Subject : 12_GP_SH2_Set1_C

Question ID:- 611
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Read the passaze and answer guestions from questions 46 to 50:

There 15 a new movement called Iibertaman paternalism which is not attractive. Both words
are characterised by sztereotvpes from peopular culture and politice that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepts reflect common sense. They are far more attractive
together than alene. According to the libertarian strategyv. people should be free to do what
they like. It is also to opt out of undesirable arrangements. 1f they want to do so. The
libertarian paternalistz urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lles in the claim that it 1s
legitimate for cholce architects to try to influence people’s behaviour, It 13 to make people’s
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people’s choices to improve thenr lives, A policv 1s
paternalistic, if it tries to influence cholces that make choosers hetter off. as Judged by people
themselves, It 1s a fact that individuals make often pretty bad decizions, These would not
have been made, had they paid full attention and poszeszed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1s a relatively
weak. soft and non-intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

Frofetam T i 9T ofi wes W 46-50 F I Al

wHeatEE fgamEn (Feeies 9=en) UF 9 SR 2 A wET AR TR 2| e s
:\-}'ﬁir_ﬂﬂ'&ﬂ—ﬁw T SR HERG AT AT & SewRd § I A Al 37 S50 A P ke S S|

TAl B EE o o W TR F TR A guon ﬂ?ﬁ?ﬂﬂ?ﬁﬁﬂ*t?ﬁ'?mﬁﬁ"vﬁﬁﬂ—qqmm
LA B b = = B o e 2 e AT = e e i e ez o i e e A e e e 1 e e e A B e
W?ﬂgﬂﬁﬂﬂﬂﬂﬂ??ﬂ“ﬁ?fmamwzﬁ—mw:mmmﬁmww@?ﬁ
el § A1 T4 A A U1 2| A HUH-II-H"‘I Tz AWE FAA 2 6 0 g4 F e w=a
=M =iEn| HifFaT | T Atawce F o 7 e T i =dE @ oA a9 w oW s Jig A
T 94 =0 7= 1 ffm 2 05 = = == vatEe w0 F o =9 = F e a9 E|
FETT AT FT A S, ATE T i SEa S 2| e g 6, 3w s 8 oY, de 6 s
Rt = Tl o B 2 Sl 112 B 2 B el i 1) B 2 e = 2 2 et e 2 11 e e i
a7 @ F A9 T i 5 F 3 e T9e 899 F 60 SEEaa =9 R T9IEd e R A

FAAl £ AR UF 924 2 F AW U A= @ FUE FAd 2| 05 =0 W S9H A, 3 T 500 gEEm
i1, AHIHA BEETCAE AEATS wi AN Fe e w5, A UE e e A | e o =
T T H9EE e, T HE AaEtaaniE TEE T gEE 2 b 9w S R e o
el T E

The movement of libertarian paternalism is unattractive as it is a combination of

TS TAE TIFETEE W S SFTFYT— 7 9900 T8 5 5 597 72—

Options:-
. Common sense concepts HAHT=-ATT 1 TR
Option ID :- 2441,
. Dogmatic concepts Fam=y g
Option ID :- 2442,

Contradictory concepts FATTIE] Jr
Option ID :- 2443,

Option ID :- 2444
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Question ID:- 614

Read the passaze and answer guestions from questions 46 to 50:

There 15 a new movement called Iibertaman paternalism which is not attractive. Both words
are characterised by sztereotvpes from peopular culture and politice that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepts reflect common sense. They are far more attractive
together than alene, According to the libertarian strategv, people should be free to do what
they like. It is also to opt out of undesirable arrangements. 1f they want to do so. The
libertarian paternalistz urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lles in the claim that it 1s
legitimate for cholce architects to try to influence people’s behaviour, It 13 to make people’s
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people’s choices to improve thenr lives, A policv 1s
paternalistic, if it tries to influence cholces that make choosers hetter off. as Judged by people
themselves, It 1s a fact that individuals make often pretty bad decizions, These would not
have been made, had they paid full attention and poszeszed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1s a relatively
weak. soft and non-intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

Frerferfiga e i 9fEe i wER HE 46-50 F I A

wHeaTE fgaeEn (Feeies 9en) UF T SR 2 A wEd SRR TR 2| e s
MWWWWW?WHW mswaﬁmefﬂﬂﬂww
aa‘u.wmmgrrirmﬁqmawﬁﬁmﬁnﬁmwﬁtmjmﬁﬁﬁﬂmqmm.
Al ZFA1 YT S-S F A9l | e % SN AEl 9O B9 0 FE] S00% ATE 7| EesieE
WG % SEER, W S TS F 98 A & 60 =0 74 Tien| 9 9 T w9 a1 9 SE"ieeiE
A=A O A1 75 H S A U1 3| S Hqu—unrl 7 AWE F 7 A0 994 F e =
=M =ien| HifFaT | T Atawcea B o 2 e T g @ a1 a9 w W s Jig A
m@mqaﬁzﬁaﬁnﬁ%ﬁnhmmmmmﬁmwwxmmﬁlm
3ETE S B SIS S, FUE = H "R 9 2| e & 6, o1 SewEl 69 8 0, g e
Bt i Tl o B 2 Sl 112 B 2 B el 7 1 B 2 e = 2 2 et e 2 11 e e i
T AT F S R 1 5fE F 3 A A9 59 6 OSSRl 9 F T S S A

FAAl B AR UF 924 2 F AW UF: A= W FUE FA 2| I 70 W 9H A, 3 T 900 gEE
i1, AHIEA HEETCAE AEATS w1 AN e e B, A e e e wa | e o e
T T F9EEEl e, A S0 AAEtaaniEs Wh e § 6 9w S w g e o
T AT 2

The government and private institutions should make efforts to

Options:-
. Prevent people from talang bad decisions 0T ‘_‘F FE T T AT ,
Option ID :- 2453,
Allow people fo go thelr own way AT =l 4% A9 T W GEH 5 H ?-Fi_mrﬂ =

Option ID :- 2454,
Make people judge themselves A F A AW § = [ e T

Option ID :- 2455,

Steer people’s choices for improving their lives,
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Option ID :- 2456,

Question ID:- 612

Read the passaze and answer guestions firom questions 46 to 50:

There 1s a new movement called Iibertaran paternalism which is not attractive. Both words
are characterised by stereotvpes from peopular culture and politice that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both conceptz rveflect common sense. They are far more attractive
together than alene. According to the libertarian strategy, people should be free to do what
they like. It is also to opt out of undesirable arrangements. iIf they want to do so. The
libertarian paternalistz urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice, The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It 1= to make people’s
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to improve thenr lives, A policv 1s
paternalistic, if it tries to influence choices that make choosers better off. as Judged by people
themselves, It 1s a fact that individuals make often pretty bad decizions, These would not
have been made, had thev paid full attention and poszeszed complete information. unlimited
cognitive abilities and complete self-control. Libertaran paternalism, however. 1= a relatively
weal. soft and non-intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

Freiferfiga e i 9fEe 3 wE oEE 46-50 F I Airem—

wHeatE fagaen (FeeiEs 9ien) OF 79 S 2 A R SEReE AR 2l e o A
ﬂﬁmaﬁwaﬁmwwnﬁﬁ?wnﬁ m:r'ﬁrrrrﬁmtrfmﬂmwam
aa‘l,.wmm?j‘rirmﬁn_mawﬁﬁﬁﬁﬁmﬁtmjmﬁwmnmm.
Al Sl YT S-S F Gl 2| S % S Al 99 =Y 0 FE S00% ATE 7| EeardE
TG % SEE, T S TG AR T F S = A A A 3 TR 9R A AR s
?ia—'mmqaﬁ——':lTrTﬂam d 2| =eEaaaE Hr,m—uﬂrn B ﬂwwﬁﬁaﬁWTmm
=M =Enl AiFET | wE At H A F S s o e @A 39w W S dGig Al
ToeammEm! 9% =8 7@ | Tt 7 ﬁﬁmwmnmm?tq?mvaﬂmﬂm?mm*lm
IETE AT SIS ST, AYE TR N "R s 2| HAT & 6, 33 SO A9 0 0, SeeE o wn
HWWW?WWWWWWF&WHWWWWWW B[4
a7 @ F A9 T i 5 F 3 Sfed 99 89 6 SEEa Al & =9 o T9IE e R 9w

Al B AR UF 924 2 F AW UE: A9 W F0E F 2| I0 0 W EW A, 3 T 550 g
1, AHITEA BFHCAF AHATS 71 AN FRg S B, A1 | UE e 98 | T i =
T‘JWT’T mmmmmmmww*mrmﬂwmmﬂ
AT AT E

The libertarian strategy insists that people should opt for

TS I 39 W T AR 41 & 5 S0 g F o =i
Options:-

Freedom of choice EpEle A= En
Option ID :- 2445,
Paternalistic support TFWHTJT U
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Option ID :- 2446,
Even undesirable arrangements  wa754E =TT 9

Option ID :- 2447,

Moadification of thenr freedom - . -
ECEARE==LE IR M

Option ID :- 2448,

Question ID:- 615

Read the passaze and answer guestions firom questions 46 to 50:

There 1s a new movement called Iibertaran paternalism which is not attractive. Both words
are characterised by stereotvpes from peopular culture and politice that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both conceptz rveflect common sense. They are far more attractive
together than alene. According to the libertarian strategy. people should be free to do what
they like. It is also to opt out of undesirable arrangements. iIf they want to do so. The
libertarian paternalistz urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice, The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It 1= to make people’s
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people’s choices to improve thenr lives, A policv 1s
paternalistic, if it tries to influence choices that make choogers better off. as Judged by people
themselves, It i1s a fact that individuals make often pretty bad decizions, These would not
have been made, had thev paid full attention and poszeszed complete information. unlimited
cognitive abilities and complete self-control. Libertaran paternalism, however. 1= a relatively
weal. soft and non-intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

Fr=fertam T Fi 9T A7 weE 9 46-50 F 5 Afam-

wHeaTeE fgaen (FeeiEs 9ioen) W T8 SR 2 O R SR TR 2l e o A
MWWWWW?WHW m:r'ﬁrrrrﬁmtrfmﬂmwam
il r.|mmgﬂﬂmﬁqm=iwﬁrﬁmnu?ﬁﬁmﬁl?ﬁt?wﬁmm—m—mﬂmnmm.
A1 ST YOG FEFE -5 ) S 2| Fe F 99 S 949 59 9 Fal A9E A E 7| H=andd
TG F SEE, TS WG AR T F S A A ) A 3 TR GRS
?ia—'mmqaﬁ——':lwaﬂfﬁm H 2| == Hrju—uﬂrn B ﬂfﬂ“wﬁﬁa’mWTmm—«i
=M =Enl HimE | wE At B A 7 e s o = @A 94 AW S g9 Al
TaamEm! 94 =6 7@ 8 Tl 7 06 S0 w5 sawen Wi F F  59 TArEE T 49 2| S
IETE AT SIS ST, AE TR SN "R s 2| WA & 6, 33 SO A9 0 0, SeeE o
ﬂﬁﬂﬁﬂﬂﬁ?ﬂﬁ?ﬁnmmquﬁaﬂﬂﬂwwmmmw B[4
a7 @ F A9 T i 5 F 3 Sfed 99 89 6 SEEa Al & =9 o T9IE e R 9w

Al B AR UF 924 2 F AW UE: A9 W F0E F 2| I0 0 W EW A, 3 T 550 g
1, AHITEA BFHCAF AHATS 71 AN FRg S B, A1 | UE e 98 | T i =
wwmmmmmmmww*mrmﬂWmmﬂ
AT AT E

The focus of the passage 1s on

T T ESE T e R

Options:-
The opposition to ibertarian paternalism E=eneil f‘?ﬁﬂﬂﬁl’rz 1 T
Option ID :- 2457,
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. The unlimited cognitive abilities of individuals. ST 1 S FEAICT H
Option ID :- 2458,

Option ID :- 2459,

The need to ignore the defects of libertarman paternalizm.

Option ID :- 2460,

Question ID:- 613

Read the passage and answer guestions from questions 46 to 50;

There is a new movement called libertaran paternalism which is not attractive. Both words
are characterised by ztereotypes from peopular culture and politics that make them
unappealing to manyv. Even worse. the concepts seem to be contradictory. If the terms arve
properly understood, both conceptz rveflect common sense. They are far more attractive
together than alene. According to the libertarian strategy, people should be free to do what
they like. It is also to opt out of undesirable arrangements. 1f they want to do so. The
libertarian paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice, The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It 1= to make peoples
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer peaple's choices to improve thenr lives. A policy 1s
paternalistic. if it tries to influence choices that make choosers better off. as Judged by people
themselves, It is a fact that individuals make often pretty bad decizions, These would not
have been made, had thev paid full attention and posseszed complete information. unlimited
cognitive abilities and complete zelf-control. Libertarian paternalism, however. 1= a relatively
wealk. soft and non-intrusive tvpe of paternalism. because 1t does not force people from taking
bad decizions.

HeleAET T 9SS T WEE 46-50 F I -

e freean (ader ieifm) v 7 seen & s w21 3 o A
AT SRS TR S0 TS F FeEd I £ A 3% 950 OF AP0 (S0 A S

il R Gl e e B o 1 1 e 1 e B e e e e e e R 8
A1 ST YOG WA ST RS9 | He F 99 S 94 &9 9 Fal A9E AEIE 7| =g
FEEIAT | W1 TR F 99 FA 41 2| S a9 AW #d R w0 9 o =
ToaeeEE 9a 38 T | FlEa 2 06 S 1 S"En T9iE #e S o 99 A e 9h 2| s
T=7F AN F A AT, SO T T mEar 99 2| HA] EE T, 97 IO &9 T ), oE 6 =
T A F A e i 5 T S S T 59 F T SEE e % =99 6 T9E A 6 5w
T‘-l*j_‘.—i?‘ll':ll':w ?-]ﬁt%‘ld’-ll 1r"182l7"1,:[m _:HT"' _-ﬂﬂ%{hﬂ“i—nd '_1'4'-1‘.Eﬁrquﬂldlﬂ_%Mi?J-a—Ffaﬁﬁg:rﬁuhﬁﬁ
Tl T

The lihertarian paternalists seek policies aimed to
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Options:-
Change the people’s preferences. T FT TEAEFAE F T ]
Option ID :- 2449,
Preserve the Peaple’s iberty of cholce AT =i = i SR A
. )
Option ID :- 2450,
Burden the people with choices. =M W ST F [FFEd A =

Option ID :- 2451,

Option ID :- 2452,

Subject : 1_PART_A_Set1
Question ID:- 449

The change in welfare due to change in environmental quality is measured by

r -~ == G i = & 3
AT =R R ER H 'Hr‘.':l"H = =AW e H G0 =R [EZ=ET S HHEl JE =

Options:-
Hedonic price function  TEeq# HiHd Fed
Option ID :- 1793,

Marginal implicit function =g HaHET o

Option ID :- 1794,

’

Option ID :- 1795,
Offer function =14 (AT ) T

Option ID :- 1796,

’

Question ID:- 480

Pradhan Mantri Jan Dhan Yojana (PMJDY) has been a flagship programme of the
Government of India

(A) Beneficiaries of this scheme are elizible for accident insurance cover of Rs. 1 lakh now
(B) PMIDY 1s helpful in inclusive development

(Cy  PMJDY beneficiaries should net be given other henefits like benefits under MUDERA
scheme

(D) It 12 leading to women empowerment

(E) More than 43 crore people have benefitted so far under PMJIDY

Choose the most appropriate answer from the options given below ;
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THH T 9 G99 A1 A WER F 0 s BacdyYl Hecdisl It 2| 30 g H wE awed 9 T

(A)  3H ATAA F TG HA AN F LT F F FAAE 5
(B)  THE Ao =9 5 FemEar el 2

(C) i, wm. H.E A6 F e ug SR F wEE e a3 T 2
(D) TEE wiEa S w2

(E) =i 9 =0% 45 Frs et #1 9o S, 3 =@ g
e Tau v faweaT | & =F I w0 99 i

Options:-
(A). (B) and (C) only  Fa (A), (B) 37 (C)

Option ID :- 1917,
(B). (C) and (D) only == (B). (C) #7 (D)

Option ID :- 1918,

’

Option ID :- 1919,
(A). (D) and (E) only & (A). (D) #F (E)

A )

Option ID :- 1920

Question ID:- 505

Given below are two statements :

Statement 1 : Taking advantage of the increased demand for staples during the
COVID-19 pandemic. India’s agricultural exports continued to do well

in 2021-22

Statement IT : Like in the year 2020-21, segments like marine products, buffalo meat,
tea. coffee and dairy products continued to perform poorly in terms of

exports from India in 2021-23
In the light of the above statements, chaose the correct answer from the options given below :

ERERE FA3-19 FEEF F Z0F @ 6 5 H ?1':5': F{lr_; T FEE BE 7™ awa # ?I';J ERIniea
9021-22 T Y WEIH wET T B

r

FoF ;=9 2020-21 F 7% 71 F9 @S 9 T @ugl 300, 99 F 6|, 99, #7067y SR H6°

2021-22 3 a8 # Ty § WETH =0E A T B

b 70 o e e = 1 Gl T T = e = e e o e 2

Options:-

Both Statement I and Statement IT are true 35 [ a7 1159 o779 =
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Option ID :- 2017,
Both Statement I and Statement IT ave false =%F I 37 I =HT 20 2

Option ID :- 2018,

Option ID :- 2019,
Statement T is false but Statement ITis true =29 [ 597 =, = 29 [I o9 =

Option ID :- 2020,

Question ID:- 434

The “tequila effect” indicates :

Options:-
. The spread of the 1994-95 Mexican crisis to other countries in Latin America
1994.95 7 AT T2 1 Hi2 ST = 3 o7 § el
Option ID :- 1733,
The spread of the 1997 crisis in Thailand to other countries in Asia
ofzeis § 1997 % Tz 1 U % 379 59 4 Her
Option ID :- 1734,

. The suprime crisis emerged in 2007 in the United State

’

TArEeE =2 F 2007 8 39 J1eT 9-UH HHE
Option ID :- 1735,

Option ID :- 1736,

Question ID:- 498

Arrange the following in ascending order

(A) Growth rate of Gross National Income (at constant price) of India in 2015-16
{B) Growth rate of Gross National Income (at constant price) of India 1n 2016-17
(C) Growth rate of Gross National Income (at constant price) of India in 2017-18
(D) Growth rate of Gross National Income (at constant price) of India in 2018-19

(E) Growth rate of Gross National Income (at constant price) of India in 2019-20

Chaose the correct answer from the options given below :
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[T TEd F1 AR F8 § 7

(A)  2015-16 7 Wrr %1 T 9 9 (B Fimm w) Fafe =
(B)  2016-17 7 wre =+ Twe 12E 9 (e $a w) F1 g =
(C)  2017-18 4 9vd 1 gt 7 oA (R fmal w) i 9fg =
(D) 2018-19 9 gwd 1 Tehet 791 37 (R fimet o) i 9fg =

(E)  2019-20%F WA =1 T 7gE 379 (FRr e w) # d9ig 7

419 om0 [@%ed] § § 97 399 1 =999 A

Options:-
(E). (A). (D). (C). (B)

Option ID :- 1989,
(C). (E). (B). (D). (A)

Option ID :- 1990,

Option ID :- 1991,
(C). (D). (E). (B). (A)

. )

Option ID :- 1992,

Question ID:- 457

Which of the following are correct with respect to IS-LM model?

{A) The LM schedule slopes upward to the right.
(B) The LM schedule will shift to the left with an increase in quantity of money
(C)  The LM schedule gives equilibrium in the monev market

(D)  The IS schedule will shift to the left when these is an increase in government
expenditure

(E)  The IS schedule will shift to the right when taxes are reduced

Choose the most appropriate answer from the options given below :

IS.IM % o=y 4 T § 9 w1 o Towea od 27

(A) LM 399 oM 39 1 @ qiEd B #
(B) LM smg gz i 7m0 § Fhg F =g sl s g5

(C) LM =g 951 @19 § Hege 9oH #l 2
(D) IS g 99 TrFl ==l | gig 'l § 78 9l @0 gt B
(BE) = =l | whelfq =i =1l 2 76 IS w3991 sl o0% g1 2

44 fou 0 fameq) § 9 91 3 = 99 il

Options:-
(A), (C). (Eyonly  #as (A). (C). (E)

. )

Option ID :- 1825,
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(A), (B). (C). (D) anly  F= (A, (B). (C), @)
Option ID :- 1826, '
(A), (C) only FA (4). (C) '
Option ID :- 1827,
. (B).(D).(C). (B)only Faw (B). (D). (C). (E)
Option ID :- 1828,
(

7

Question ID:- 417

Two factors of production. say A and B have the same price. The least cost combination of
A and B for producing g@iven level of output will be achieved at a point where the Iso-quant
has slope eqgual to

FIEA o1 AEA, A8 A i B F1 Find 5uE 2| 36 5w T T 6 36w F e A 35 B
FTH I HAT 39 19 W 0 A SE T30 9 1 5o e & s e

Options:-

Option ID :- 1665,

Option ID :- 1666,

, A

Option ID :- 1667,
n‘"

&
A ’

Option ID :- 1668,

Question ID:- 481

Match List I with Last IT:

LastI ListII
(A} The greatest good for the greater () Learner’sindex
number
(B) stability of general equilibimum (II) Bentham's criterion
(') degree of monopoly power (IT} Tatonnement
(D) third degree price-discrimination (IV) Pigou

Cheoose the correct answer from the options given below :

o1 = 1 g1 e Fifee

I o1
(A)  TEFTH TR SFaEaH 2= @) Toredt s
(B) == T i e (I) =" FITETs
(C) TTtaEE vt 1 A (D) e far
(D) T Al FHA-HEaE (IV) fom

#1150 70 TEFeaT § | T 39 R =5 i
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Options:-
(A)-(IV). (B)-(IIL). (C)-(I). (D)-(II)

Option ID :- 1921,
(A)-(IV). (B)-(III), (C)-(IL), (D)-(T)

Option ID :- 1922,
(A, (B)-(III). (C)-(IL), (D)-(IV)

Option ID :- 1923,

Option ID :- 1924

Question ID:- 504

(Given helow are two statements ;

Statement I ¢ Devaluation alwayvs corvect a chronic balance of pavments deficit.

Statement IT :  An expected devaluation leads speculative. capital outflows from

domestic country.

In the hght of the above statements, choose the correct answer from the options given below :

4 =1 Fem oo 2 .

FHL:  SEEE WA UF oA 5EA A W9 A1 T2 A 91 99 H 9w 2
Foe IL: R SN AEEeE w3 | E2 o i Tl St e 2

S FYF F AEE A, A 5 e e 5 g gen g8 35 R =9 i

Options:-

Both Statement I and Statement IT ave true =9 [ 37 =M a3 =
’

Option ID :- 2013,
Both Statement T and Statement I are false 4= I 3 I15M] 394 2

Option ID :- 2014,

Statement I is true but Statement IT is false F99 [T B, =67 F49 11 3977 7

Option ID :- 2015,

1

Option ID :- 2016,

Question ID:- 453

What has been the reazon for recent dip in vehicle registration in the countiry?
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%91 § AlET T H B 0 AT TR S S o T8

Options:-
. Shortage of semi-conductor chips  HHI-Fs#2 oo 1 w41
Option ID :- 1809,

Poor credit supply by the banking sector S &4 ZHT 9 1 FH ‘HF]{FI

Option ID :- 1810,
Sharp rise in vehicle prices ATl 1 A A= :'93
Option ID :- 1811,

1

Option ID :- 1812,

Question ID:- 425

The irrelevance of money for real variables in the classical system is called

P ELE=2 1t 1 = = 1 & e D e o 6 2 =331 =1 L ot e i o1

Options:-
Fiscal neutrality  Trs=mdia d722m0
(] ’

Option ID :- 1697,

E)ption ID :- 1698,
. Exchange rate neutrality T=e o7 7ze4a
Option ID :- 1699, '
. Technological neutrality  TT=T=E F2e2a]
Option ID :- 1700,

’

Question ID:- 464

Which of the followings are correct?

(A) M, =C+DD+0D

(B) M, = M, + =aving deposits with post office saving banks
(C) M, = M, + net time depositz of banks

(D) M, = M, + net time deposits of banks

(E) M, = M, + total deposits with the post office savings

Chooze the correct answer from the options given below :
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e O 9 FA-aA o e T8 27

(A)
(B)
(C)
(D)
(E)

M, =C+DD+0D

M, = M, + S U9 3+ 4 590 @ § S0 FA
M, = M, + 3 7 fam Fifes 5

M, = M, + =1 % f5ae =i 5

M, = M, + ST 9 % 5= @id 4 el 991

I fom v fweat 17 O 99 = w1 v i

Options:-

(A). (B) and (C) only  Fa (A). (B) 3 (C)

’

Option ID :- 1853,
(A), (B) and (D) only  #a= (A). (B) 3 (D)

Option ID :- 1854,

Option ID :- 1855,
(B). (D) and (E) only === (B). (D) #iT (E)

’

Option ID :- 1856,

Question ID:- 494

Arrange the following events in sequenece (the oldest one being first)

{A)
(B)
(C)
(D)

(E)

The Tokyvo Round
The Uruguay Round
The Annecy Round
The Dillon Round

The Torguay Round

Choose the correct answer from the options given below :

Treterige AT W H S (WA TR BT ST e 1)

(A)

(B

(Cy

(D)

(E)

T TES

Fr= fou o fael ® B = T o =

Options:-
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(C). (E), (D), (B). (A)

Option ID :- 1973,

Option ID :- 1974,
(C). (E). (D). (A). (B)

Option ID :- 1975,
(E), (C). (D). (A), (B)

O tionID :- 1976

Question ID:- 488

Match List T with List IT :

Tast I Last IT
(A) Reverse repor rate (I RBI provides loan to commercial banks for short term
(B} Bank rate (II) RBI provides loan to commercial banks for long term
(C) Repo rate (IIT)y RBI borrows money from commercial banks
(D) Cash reserve ratio (IV) Commercial banks have to deposit minimum ratio of

their net total liabilities in RBI

Choose the corvect answer from the options given below :

1.1 F T F g1 foem Fim
Gl Ecini
(&) weEEA g E (D) A At S e wat o
(B) =7 (II) 37701, 375, AT =2 Soh1 =1 G4 2704 =0 9 507 7
€ T TET (II) T . 5708, A= &1 § F3 =l &
(D) % ARfEA FT (IV)  =TioIf=a =1 1 994 Fet Giaeal 1 =09 Tiaem S0 97E,

T S IS R

H19 foo e faeTl B 9 o T 1 =39 i

Options:-
(A)-(Ty. (B)-(IIL). (C)-(IT). {D)-(IV)

A ’

Option ID :- 1949,

Option ID :- 1950,

(A)-(TIT. BTy (C)-(IT1 (D)-(IV)
Option ID :- 1951,

(A)-(I). (B)-(11). (C)-(III). (D)-(IV)

’

Option ID :- 1952,

Question ID:- 443

If time deposit 1s not included. then the money multiplier will be (Cr = curreney deposit ratio.
17T = reserve deposit ratio)
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A FEAETY T WS A T A, A g5 T we ( Cr = HE 9 W, rr = SRiad S
)

Options:-
(Cr+rr)/(1+Cr)

Option ID :- 1769,
(Cr+rr)/rr+1)

Option ID :- 1770,
Cr/rr

A ’

Option ID :- 1771,

A )

Option ID :- 1772,

Question ID:- 439

Primary deficit 1s given by

TTATHF o912 1 = 0 H RS TR a4 A6\

Options:-

Option ID :- 1753,

Revenue deficit — Interest pavment 54 5= — =05 G707
Option ID :- 1754,

Budget deficit — Interest Payment HE=I0F 9171 - =413 YTAH
Option ID :- 1755,

Revenue Receipt — Revenue Expenditure 7157 i - T =

Option ID :- 1756,

’

’

Question ID:- 495
Write the steps to estimate the ECAM/VAR model in time series.

(A)  Unit root test

(B) ACF and PACF test
{C) ECAM/VAR

(D)  Inputting data

(E) Comntegration test

Choose the correct answer from the options given below :

prepp



www.prepp.in

AU g 1 Sy AR TEE & S99 F S H HE § o,

(A)  FEF =2 wEm
(C)  =eHum/Husm
(D) 9T =2

(B)  a@—Tehiso T

= Teu 7o fawedl § 9 w8 397 % =99 Fiw

Options:-
(D). (A) (E). (B). (C)

Option ID :- 1977,
(Dy, (B), (A), (C), (E)
Option ID :- 1978,
(D). (B). (AL (E). (C)

A ’

Option ID :- 1979,

’

Option ID :- 1980

Question ID:- 465

Which of the following properties of matinx are correct?

3

(A) (A')=A

(B) The rank of an n =% n nonsingular matrix A must be less than n
() (AB) = B'A'
(D) (A+Bf'=A"+H"

® (At =(a")

Choose the correct answer from the options given below :

= 5 3 =0 () F 7§ w7 3 T w9 A
(A) (A=A

(B) TF nxn mmw.&nﬁﬁﬁmmﬁﬂ?
(C) (AB)=BA'

D) (A+Bf-A"+B"

® (ayt=(a?)

H T30 T fakedl § § W 390 99 HE

Options:-
(A). (B) and (C) only Fae (A), (B) 3 (C)

prepp



www.prepp.in

Option ID :- 1857,

Option ID :- 1858,

. (A), (C) and (D) only

Option ID :- 1859,

{C). (D) and (E) only

Option ID :- 1860,

Fad (A), (C) 3T (D)

Fae (C). (D) FE (E)

1

Question ID:- 490

Match Last I with List 11 :

(A)
(B)
(C)
(I

ListI

Andhra Pradesh PCI in 2020-21
Madhyva Pradesh PCI in 2020-21
Odisha PCI in 2020-21

West Bengal PCI in 2020-21

ListII
(I Rs. 95418
(Il R=s. 1.09.730
(IITy Re. 1.21.267
(IV) Re. 1.70.215

Chaose the correct answer from the options given below :

o= 1% =% #1511 faem Fifem

(A)
iB)
(C)
(D)

Hr= &0 e fFFed § 3 E I 1 =99 e

I

2020-21 8 =g U5 ° 91 #0E.
2020-214 77 wo | F.H. @E.
2020-21 5 3f=4r § d1.H. 75,

2020-21 5 vy s 5 91H. 35

Options:-
(A)-(IT). (B)-(I). (C)-~(I0I). (I)-{IV}

Option ID :- 1957,

(AY-(IV), (B)-(I), (C)-(II), (D)-(IIT)

Option ID :- 1958,

Option ID :- 1959,

(A)-TIIY, (B)-(I). (C)-(I1). (D)-(IV)

Option ID :- 1960,

THLII
(Iy 98418
(II) 109730
(III) 121267
(IV) 170215

Question ID:- 431

The total revenue (R) and total cost (C) function of a firm are given by RB=30Q-&°.
C=20+4. Where @ 1z output. find the equilibrium output of the firm

= w2 F %= 09 (F0) vF F e (H1) w1 R=30Q-@Q°. C=20+4Q v Q fria &, sm =

#1 frta wgem s Fifm
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Options:-

Option ID :- 1721,
. 13

Option ID :- 1722,

Option ID :- 1723,
10

Option ID :- 1724,

Question ID:- 422

Real and nominal income 1s caleulated respectively at

Options:-
Current and constant prices =] i feem hima
Option ID :- 1685,

Option ID :- 1686,
. Constant and constant prices 747 #i7 2 e
Option ID :- 1687,

Current and cuivent prices A A ?ﬂr_iTﬁF:l%i

Option ID :- 1688,

’

’

Question ID:- 497

Arrange the following Environmental disasters chronologically in accordance of their
pecurTEnce

(A) Bhopal Gas Tragedy

(B) Chernobye explosion

({85] London smog episodes

() Exxon Valdez

(E) The Threemile Island Nuclear Disaster

Choose the correct answer from the options given below :
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(&)  we T A
(B) == =R
(C) A =9 uEE

(D) TEEH T9ea

(E) T2 4t oz w35tz foeran =maan
e i U e i == e o e e ) e o B 2 s

Options:-

Option ID :- 1985,
(C), (E), (Ay, (B), (D)

A ’

Option ID :- 1986,
(A), (C). (D). (E). (B)

A ’

Option ID :- 1987,
(B). (C). (D), (A). (E)

Option ID :- 1988,

1

Question ID:- 503

Given below are two statements : One is labelled as Assertion A and the other 1s lahelled as

Reason R

Assertion A : The Endogenous growth theory examines production function that
shows Increasing returns,

Reason R . Increasing returns in Endogenous growth theorv is due to specialization

and investment in knowledge capital and learning by doing.

In the light of the above statements, choose the most appropriate answer from the options

given below :

419 =1 99 B0 U : vF oi9Eed (Assertion A) F F‘Jﬂﬁf]‘ﬁﬁﬁ?‘ﬂ'{m 0% #10 (Reasons B) =
AR (A) THH A [ g I B F 3E TR S URAW Al 2 A sed 5

For (R) : AR [FFE W " aaW 29 U, 79 F 95 vH B OF g F AR F
e T T el o 0= P B AL L 2 e =B - o = e e T e D e e L

Options:-
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1

Option ID :- 2009,
Both (A) and (R) are correct but (R) 1z NOT the correct explanation of (A)

(A) w17 (R) o1 F71 3, =054 (R), (A) 7 551 == T8 3
’
Option ID :- 2010,
{A) is correct but (R) is not corvect (AymdH 2 =y (R) =21 751 2

’

Option ID :- 2011,
(A) iz not correct but (B) 12 correct  (A) o5 77 2. 9= (B) 541 7

Option ID :- 2012,

Question ID:- 451

"PM Gatishalkti’ 1= driven by ENZines.
Options:-

. Four =7
Option ID :- 1801,
Five =

Option ID :- 1802,

Option ID :- 1803,
Seven HIF

Option ID :- 1804,

Question ID:- 427

A bag contains 20 tickets marked with numbers 1 to 20, One ticket iz drawn at random. Find
the probability that will be multiple of 2 or 3.

wF 99§ 19 20 % 6 aemA A 20 TR 2| vF e anfew w9 9 Feeen ) 3 Seer e
#ifsm =1 20 5 <t r= w0l

Options:-
0.7

Option ID :- 1705,
0.9

. ’

Option ID :- 1706,

Option ID :- 1707,
0.3

Option ID :- 1708,
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Question ID:- 471

What are the practical consequences of multicollinearity in CLEM?

(A) R?, the overall measure of grodness of fit can be very high
(B) OLS estimators are not BLUE

(C) (LS estimators have =small varance and covariances

(D) t ratio of one or more coefficients is statisticallv insignificant
(E) The OLS estimators and their standard errors can be sensitive to small changes in the
data

Chanse the correct answer from the options given helow :

o TR @W Y °, 7 FIAEE F SSEEE Ty w1 v R
(A) R, 7T=TE ATF TR ARG WG wA siaw w1 o
(B) 37 u= uH WiFHeiw BLUE 77 7 2

(C) =11 79 TH W & O T2 T 91 qE-TE B R

(D) U IT IHE ATTF O F A S A w0 H a2 A
(E) 11 U9 UH Ui SN ST A i Arhel 1 B qiad & Ui Sdeeie w gl v

414 120 70 T@Fa] § § a3 6] 999 F0A,

Options:-
. (4. (B) and (C) only Fa= (A), (B) @R (0)
Option ID :- 1881,

(A). (B) and (D) only a9 (A). (B) #r (D) ,

Option ID :- 1882,

Option ID :- 1883,
(B}, (C) and (E) only Fa= (B), (C) 51 (E)
Option ID :- 1884,

’

Question ID:- 436

What does the result of the first empirical test of the Heckscher-Ohlin model by Wassily
Leontief find?

ATTEEAT s G e her—ATae J15e & 9ael Saas WA 1 T =y Ay

Options:-

U.S. exports were less capitaliintensive than U.S. imports

UA. % FETE .08, % AW H FE g 9aE
Option ID :- 1741,

1.8, exports were more capital-intensive than U.S. imports

’

3.0, F A 3.0E, % A | A g -Tae A
’
Option ID :- 1742,
U.S. exports were more human capital-intensive than U.S, imports
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Option ID :- 1743,
All the ahove 593{;? =
Option ID :- 1744,

Question ID:- 462

Which of the following is correct?

(A)
(B)

(C)
(D)

(E)

The gross barter terms of trade uses gquantity index for 1imports and exports

Bath gross barter terms of trade and net barter terms of trade malke use of the price
index for imports and exports

The net harter terms of trade uses price index for imporis and export

Both gross barter terms of trade and net barter terms of trade make use of the
quantity index for imports and exports

The gross barter terms of trade uses price index but the net barter terms of trade uses
quantity index for imports and exports

Choose the correct answer from the options given below :

e N T,

(C) =Imw = Faw o5 TS T AT @6 FEE F e ged geE AR A A

(D) =AUF F TFE 79 E@EEE TW e A m@EeE aee dn FEE F O e e
(E) =AW 1 Aol 93 a9 ge3 =R 1 TA0 Al § W Hae 9 fAEeg s A6 i
e fau o fameal 9 @ w6 30 1 = i

Options:-

(A) and (B) only %4+ (A) 37l (B)

Option ID :- 1845,
(B) and (C) only 4= (B) #1T (C)

’

Option ID :- 1846,

Option ID :- 1847,

(A) and (C) only  Faa (A) &R (C)

Option ID :- 1848,

’

Question ID:- 423
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What will be the aggregate Domestic Income NDP (FC) of the economy for 2022-23: 1f
GDP (Market Price) = 27.654 Crores

Depreciation = 2847 crores

Indirect taxes less subsides = 2160 crores

2022-23 % Tou, eferaeen 1 59 wie] 9@ vAET (vwdt) T a3k
A (s #ma) = 27.654 F0S
g = 2847 FTS

ATEE F 0 gisatsal = 2160 FS

Options:-
24,807

A ’

Option ID :- 1689,

)

Option ID :- 1690,
26.967

1

Option ID :- 1691,
28,467

7

Option ID :- 1692,

Question ID:- 469

Which of the followings are correct in case of normal distribution?

A Q+@ =2Md

(B) Q.D. :%G
S

.
(C) D.==
= 3

(D) All moments of odd order about mean are zero

(E) Q +@Q. =Md

Choose the correct answer from the options given below :

e M E A A e i R - A R R T

A @+ =2Md
(B) Q.D.:%o

(©) Qﬂ.=§a
(D)  =TeF 3TR WY1 =9 F9 F &, 9=

(E) @+@ =M

419 Tom 7o fomeal © o 9E 39 6 994 HE

Options:-
(B). (D) and (E) only  Fa= (B). (D). (E)

A )

Option ID :- 1873,
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E)ption ID :- 1874,
. (4).(C)and (D) only F (A). (C). (D)
Option ID :- 1875,

(C). (D) and (E) only Fae (C), (D). (E)
Option ID :- 1876, '

’

Question ID:- 477

Here is given weilghts of items under use based claszsification of industral production index of
India (Base 2011-12)

(A) Primary goals 34.05%

(B) Capital goods 12.22%

(C) Intermediate goods 17.22%

(D) Infrastructure/Construction goods 12.34%

(E) Consumer goods 24.17%

Choose the correct answer from the options given below :

WG ST 309 G ST AT S W W e AW Fead 2| @ e
=

(A)  WEETE T 34.05%

(B)  qAmE wmd 12.22%

(C)  wvems gl 17.22%

(D)  TrEaTE At T 12.34%

(E)  3o"rm 9518 24.17%
= fou T 9T 8§ OF I w999 F

Options:-
. (B).(C)and (D)only = (B). (C) 5 (D)
Option ID :- 1905, '
., (A (B) and (E) only Fae (A), (B) #F (E) '
Option ID :- 1906,
Option ID :- 1907,

(B), (D) and (E) only %= (B). (D) 37 (E)

Option ID :- 1908,

’

Question ID:- 446

Match Labour Force with the appropriate item from among the following :

FeEs © 9 3= 08 % 91 49 W o T5eH

Options:-
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Option ID :- 1781,
Emploved + unemployed T&W - WY + S0
Option ID :- 1782,
. Total educated manpower e [214d HFT T
Option ID :- 1783,
Population in the age group 15- 60 15-60 =117 =71 =1 S50

A ’

Option ID :- 1784,

’

Question ID:- 437

In the Mundell-Fleming madel, under floating exchange rate. which policy 1s more effective 1o
nfluence agzregate income?

=

TEE-TAM G 4, THEneE GEEa W F 96, 79 AW i T49iEs WA F o Fe- i atew
FE BT

Options:-
Fiseal policy TTAFE Hid

Option ID :- 1745,

’

Option ID :- 1746,
Exchange rate policy a9 = #ifa

Option ID :- 1747,
None of the above =7 H ¥ H15 75

Option ID :- 1748,

Question ID:- 466

Which of the followings are correct?

(A) The market is a system that works with price mechanism
(B) Market failure refers to the divergence of market equilibrium from pareto optamality

(C) Market fails to efficiently supply public goods and the same makes a case for govt
intervention

(D} Market efficiently works in the presence of positive externalities

(E) Market efficiently works in the presence of negative externathities

Choose the correct answer from the options given below ;
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= 5 o i w5 27

(A)  STHE UF UHT SR 7 AR o9 G O i T 2

(B) =R F AT AW TAe F R W S a9 I

(C) =AW T30 F oF =54 A | fawe 7 ¢ e arEn F oEe & AaaEal 1wdl
(D) ATHF TFRIETF STel S0 1 =afeaty 1w o O e o B

(E)  STHR TRH 978 FF H1 30t § 28 o6 o w0 99 2
9 foo T fawe B A wE T = A

Options:-

Option ID :- 1861,

(A), (B) and (C) only == (A), (B) 3R (C)
Option ID :- 1862,

(C). (D) and (E) only a7 (C). (D) 31 (E)
Option ID :- 1863,

(B) and (E)only &= (B) 31 (E)

Option ID :- 1864,

Question ID:- 502

Given below are two statements :

Statement I : Dualism refer to economic and social divisions in an economy. such as
difference in the level of technology between sectors or regions, differences
in the degree of geographic development and differences 1n social customs
and attitudes,

Statement IT: The developing countriez in the early stage of development experience
dualism. which have 1mplications for future pattern and pace of
development.

In the Iight of the above statements. choose the most correct answer from the options given
below :

T I = ) o it (= 0 | e e 1o e e e e e o ) | S = 8 e 7t e = e
e, WA FF a5 ST, S G § T W A S 3T AEiSE e s
ZEFT § U IH T

Fum 1L Toermsie 591 T % SRl S A grais R SN A B TSR wE 9l 5 e
F T 3T F W TS R

I A A 8, A U T [T 8 ¥ weE I I 6 =99 e

Options:-
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Option ID :- 2005,
Both Statement I and Statement IT are false 29 1 37 1L 21 3903 2
Option ID :- 2006,
Statement I is true but Statement ITis false F939 [ 979 =, =% 794 [I 594 2
Option ID :- 2007,

Statement T is false but Statement 1T iz true =2 [ 57973 &, =99 #47 1199 7

Option ID :- 2008,

’

)

Question ID:- 476

Heve i= given zex ratio for different states of India for 2011

{A) Gujarat ;: 942

(B) Madhya pradesh : 931
(C)  Odisha: 979

(D)  Tamil Nadu : 995

(E) Harvana : 862

Choosze the correct answer from the options given helow :

g & Tar9e 791 & 854 2011 F fE-squm e 2| 398 F A6 fowen =1

(A) M : 942
(B) w==mEm o 931
(0)  =3t=@m: 979
(D)  dHeFTs ;996

(E) =ieTT ¢ 862
Hr fom e fawedi © 1 591 359 %1 994 Hifaw

Options:-
. (B). (C) and (D) only F4= (B). (C) =7 (D)
Option ID :- 1901,

’

E)ption ID :- 1902,

. (C)and (D) only === (C) =7 (D)
Option ID :- 1903,

. (C). D) and (E) only % (C). (D) 3 (E)
Option ID :- 1904,

’

Question ID:- 459
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Tools of expansionary Fiscal policy include

{A) Raising Government expenditure
(B) Reducing Government expenditure
(C)  Increasing tax rate

(D)  Reducing tax rate

(E) Increasing money supply

Choose the correct answer from the options given below :

r . =

AT TR i & S9F

(A)  TOFEA =S A
(B)  =dl w@H R EZE
(C) =7 7 AR
(D) T =

(E) a1 29 # wgr

H= Tou v Tawedl | W |A 39 =g I
Options:-

Option ID :- 1833,
(B). (C)only === (B). (O)

Option ID :- 1834,
{A). (D). (E) only === (A). (D). (E)

. ’

Option ID :- 1835,
(B), (C). (E) only === (B). (C), (E)

Option ID :- 1836,

Question ID:- 450

A stationary population is that when population growth is

Options:-

increasing at an increasing rate  FEdl ?ji’ W AR A
Option ID :- 1797,

increasing at a decreasing rate  92d fﬁ oW EE A
Option ID :- 1798,

Grows at zero rate I =0 W =gal 7
Option ID :- 1799,

’

Option ID :- 1800,

l

’

Question ID:- 418
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Suppose a profit maximising monopolist 1= producing 200 untis of output and 1= charging a .

price of Re. 40 per unit. If the elasticity of demand for the product 1= —2. marginal cost of the
last unit produced 1s

T HiAT = AEGR F 9 FE T 800 IHE 1 Iee # W 8 A 40 =9 uiE gEe #
& ——— 2|

Options:-
10

Option ID :- 1669,
. —400
Option ID :- 1670,

-2

Option ID :- 1671,

Option ID :- 1672,

Question ID:- 438

The provision for social goods. or the process by which total resource use 1= divided between
private and social goods and by which the mux of social goods is choosen i1s known as

aEIAE FEGSl F SHGE, AT 9F UG [FEd HEET GH19E F o I9EF H [iE Ud SmEiEs aeqe g
famitaa T e # 9 T aveem o ATtas 9eg @ o T0%T 1 =94 a1 A 7 30 Fal T 2

Options:-

. Allocation function a0 Fe
Option ID :- 1749,

. Distribution function 770 e
Option ID :- 1750, '

Option ID :- 1751,
Normalization function  HTH=ITH0] Feid

Option ID :- 1752,

Question ID:- 445

The hypothesis of cumulative causation as an explanation of the backwardness of developing
nations is associated with

TaFele 2o U2EuE % ST F 9 § Sed] FOEHFA] F1 9SS A § o [FeE Satad 2
Options:-

Ragnar Nurkse w7
Option ID :- 1777,
Gunnar Myrdal -1 EET

’

’
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Option ID :- 1778,

Option ID :- 1779,
Feiand Ranis 4 »7 153
Option ID :- 1780,

Question ID:- 478

Which of the followings were the part of FDI policy reforms and other measures during the
Covid-19 pandemic period?
(A) 100 per cent FDI in the health sector

(B) Permitting foreign investment upto 100 percent under automatic route m Telecom
services sector

(C) "FDI monitoring cell” has been formed to expedite FDI proposals

(D) Raised the FDI limit from 49 per cent to 74 per cent 1n Insurance companies under the
automatic route

(E} Reduced the limit of FDI in the defence sector to realize the vision of Atmanirbhar
Bharat

Choosze the correct answer from the options given helow :

FIia3-19 F1 TeEr F S0H T4 Hee G iid 99T S8 S FiE-wiE O Al SEe T e
(A) TEFEE AE E 100 uiEeE TeaE e EEE

(B) THaW HA1 % &4 § wEaien wid | 100 iewa wee et e F 5 o

(C) s Tase e 99 = Te wE Ty el mEEe W o aeE o

(D) =i\ F=EE § e A0 3 Oes Eeel EmEaE 49 | 74 uieeE 8% seeE

(E) ST 97E F TS % @RS 50 6 S 6 e et e T o wm e
1 few v fawegi O & T 390 #1994 Fiau

Options:-

. D)and Eyonly A% (D) T (E) .

Option ID :- 1909,

. ®.(C and Byonly Fa (B). (C) 3 (E)

Option ID :- 1910, '
(B). (C) and (D) only &« (B). (C) =1 (D)

. )

Option ID :- 1911,

Option ID :- 1912,

Question ID:- 479
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Below are szome of the features of the Micro, Small and Medium enterprises (MSMEs) in

India.

(A)
{B)

(C)
(D)

(E)

Revized definition of the MEMEs was brought in July 2020

In this definition turnover Ilimit varied between service and manufacturing
enterprizes

In the revised definition turnover limit for small enterprises was Rs.50 crore

In this revizsed definition. investment hmit 1n plant and machinery or equipment for
medium enterprises was Rs.50 crore

In the revized definition, mvestment limit for plant and machinery or equipment for
medium enterprises was Rs.5 crove

Choose the correct answer from the options given below ;

qWA § JEY, @Y A 9% IE F Gl § B9 9 MeEd 2| 9 et 14

(A)  muEE: F "entas gioarn gens 2020 9 @E

(B) =& 9ivaman H T 1% 1 BAEE HG = S A9 F 56 w2

(C)  TTiiead 9frsmn § o ST & (60 el T F wEEE F EE %50 #0032
(D) HETHA TOET § T S 59 T 9EEE FE § A F O E.50 W 7
(E)  Toiiers 99 o 9= 917 0o & 99N S O a6 0T S S R

419 fou 7o faweq 8 3 T8 I F 99 e

Options:-

Option ID :- 1913,

(A), (C) and (D) only ¥4 (A). (C) 37 (D)
Option ID :- 1914,

(D) and (E) only == (D) @1 (E)

Option ID :- 1915,
(A). (B) and (D) only  #a+ (A). (B) 3 (D)
Option ID :- 1916,

’

Question ID:- 470

What are the primary goals of sustainability?

(A)
(B)
(C)
(D)
(E)

The end of poverty and hunger

Better standard of education and healthcare
To achieve gender eguality

Sustainahble economic growth

To achieve both inter and intra generational equity

Chooze the most appropriate answer from the options given below :
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HETFAT ¥ WA 3550d - £ 7

(A)
(B)
(C)
(D)
(E)

T 77w S

P

forean 370 Tafred & 987 o

419 f2u 70 foFed 8 ° HF 39 #1999 S

Options:-
. (A).(B).(C) and (B) only %77 (&), (B). (C) 3R (E)
Option ID :- 1877,

(A). (C). (D) and (E) only == (A). (C). (D) #HiT (E)

Option ID :- 1878,
. (A4).(B). (C)and D)only A= (A). (B). (C) 3 (D)
Option ID :- 1879,

Option ID :- 1880,

Question ID:- 484

Match List I wath Tist IT :

(A)
(B)
(C)

(D)

List T Ligt I
Testing of overall significance (Il Chi-sgquare test
Testing the independence of attributes (II) Jarque-Bera test

Testing the significance of regresison (III) F-test
coefficients

Normality test (IV) t-test

Choose the correct answer from the options given below :

-1 m19 F FH-11 Taem Hitem

(A)
iB)
(c)
(D)

-1 111
T TEed 1 90Em (I) =I5 —TFamm e
U = TS 2 ] A (IT)  SATF—=R7 wivEm
T T o Taed A (IITy F-wieagon
TR AT (IV) T-amgm

19 oo T fowed § 9 7 I W 9T #a

Options:-
(A)-(I). (By-(IL). (O)-(II). (I)-(IV)

Option ID :- 1933,
(ATIT), (B)-(I), (C)-(IV), (DH-(IT)

Option ID :- 1934,

1
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Option ID :- 1935,
(A (D). (By-(IIT). (Cy-(INV ). (D) «(IT)

Option ID :- 1936

Question ID:- 452

Growth 1n total consumption in India in 2021 — 22 1= likely to he
qwE § 2021-22 § T 399 1 9tg et w1 i e 2

Options:-
5.0 Percent 5.0 wiiem

Option ID :- 1805,
6.0 Percent 6.0 wiqwm

Option ID :- 1806,

Option ID :- 1807,
5.0 Percent 8.0 wiavm

Option ID :- 1808,

Question ID:- 472

With reference to the views of classicals on public debt. which of the followings are correct ;

(A) future financing gets more trouble some due to public debt
(B) public debt leads to a reduction of rezources for productive private employment

(C}) mncreasing public debt leads to currency depreciation and deflationary situations in
the economy

(D) Debt financing requires funds for interest payment and amortization. hence a double
burden for exchequer

{E)  Public debt leads to productive activities

Choose the most appropriate answer from the options given below :

HIEAFF B F H6Y 5 FAEES AN EEE ® 55E H, HEeEEd 3 3 FiE-hE | 56 a7

(A)  EEAEF T FEV GE] GAAE G0 A e 7 e e

(B) HEANT WU % FEW IEF @A AR 0 TEEA 9 2 wl ¢
(C) =t =0 § gig | 551 F G 37 AU B i A w7 el f
(D) o B T e W Sl st Ry R B sl o) 2 v ae w0 A

(E) w0 | SESE AR w5 R
4= fou 7o faFeal § | E 3 w1 = A

Options:-
., (4. (E) and (B) only F= (A). (E). (B)
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Option ID :- 1885,

E)ption ID :- 1886,
. (E). (D) and (A) only #ad (E). (D). (A)
Option ID :- 1887,
. (A). (B and (D) only Fa (A). (B). (D)
Option ID :- 1888,

’

’

Question ID:- 487

Match List I with Iist IT :

LastI
{A) Pure Public good
iB) Pure Private good
(C) Open acess resources

(D) Congestible resource

List IT
(i  Non-rival but excludable
(IT) Non-excludable but rivalry
(III) Non-rival and non-excludable
(IV) Exeludahble and rival

Choose the correct answer from the options given helow :

T1-1 =4 1 g=i-10 T i

-1
(A) g TEAAE 9
(B) T3 a3 =
(C) == T

: P r
(D) HefleTd HHIg
4 oo o foweay © 2 w8 =50 =1 999 Fifew

Options:-

Option ID :- 1945,
(A)-(IIT), (B)-(IV). (C)-(I), {D)-(D)

A ’

Option ID :- 1946,
(A-(D, (By-(IT), (Cy-(I11), (D3-(IV)

Option ID :- 1947,
(A)-(IIT}. (B)-(1L). (C)-(L). (D)-(IV)

Option ID :- 1948,

111

(I}  ={aEeTEl 370 sasF

(IT) SH*9a=F 57 et
(II[) =il T AATTTF
(IV) wiFerd] v s

Question ID:- 475

prepp
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In relation to considerations of demographic dividend there appears to be “demographic
dualism”™ exhibited by the Indian states. In this regard consider the following factors

(4) Total fertility rate
(B) Sex ratio
(C) Percapita meome

(D) Urbanisation rate

Choose the correct answer from the options given below :

FAOIETFE A9 F Ol § FAEIehE 3Aan S T A 2 S A T H 9t =6 2
T T A e Few W = = i e =

(A) FATSFH T

(B) Tem-rm

(C) et =9

(D) I F T
1 A L T o | i e o B - B e L

Options:-
Both (A) and (B) &= (A) 30 (B)

Option ID :- 1897,

E)ption ID :- 1898,
., Only (B) and (C) FA (B) 1 (C)
Option ID :- 1899,

. Only (A). (B)and (D) % (A). (B) A (D)
Option ID :- 1900, )

’

Question ID:- 441

“ 1 _f t f H '. ;‘tl‘-n'. i is t C 1‘11 ‘t 1 l. 1‘ t 7 " »-i " 1 t f I_. L
hich of the following strategy not correct in order to have expansionary impact of fiscal
policy?

== ® H R T TR Hid F S T S e %’T—[ﬂ o 5
Options:-

’

Option ID :- 1761,

Public expenditure must be financed through increazed taxes only

Option ID :- 1762, '
Compensatory spending for public investment @EAEH a9 79 WG = ‘
Option ID :- 1763,
. Cutin taxes ﬁﬁaﬁﬁ?ﬂ,
Option ID :- 1764,
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Question ID:- 461

Which of the following hold good for Lewis model of development?

(A)
(B)

(C)
(D)
(E)

Unlimited supply of labour

Marginal productivity of labour in the subsistence sector is equal to. or less than.
subsistence wage

Dual economy with a modern sector and a subsistence sectar

Agricultural sector subject to Increasing returns

MModel that explains the erucial role of capitalist surplus in the development process

Choose the more appropriate answer from the options given below :

A F T ATES F =4 § M 8 ° wA-90 F T T R

{A)
(B)
{C)
(D)
(E)

IR 9§ A 1 TEE IeEEA] AiEe A Bl o e 11 35H 5 Al 8

T & Fd 70 o9 F HUe owRd |

RN A1 e O 1 o i e D e e e e e R e et

S o o Taeat § | HE 39 R 9E i

Options:-

Option ID :- 1841,

(A), (B). (D). (E)only === (A), (B), (D). (E)

1

Option ID :- 1842,
(B), (C), (D), (E)only === (B). (C). (D). (E)

Option ID :- 1843,

’

(A). (C). (D). (B)only  Fa (A). (C), D). (E)

Option ID :- 1844,

1

Question ID:- 489

Match List I with List I1 :

(A)
(B)
(C)
(Dy

TistI List 1T
FEMA (I 1969
MRTP Act (IIy 2002
Competition Act (IITy 1973
FEEA (IVy 1989

Choose the correct answer from the options given below :
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-1 F T = 311 freme Fifem

=1 T=-11
(A) TEITHT @ 1969
(B) wAFTAME v (I 2002

(C) Wi v (FEEE) (IIT)y 1973

(D) TEEALE, (IV) 1999
dr9 fon 7w foeT] § 9 o8 =9 T =99 Fa

Options:-
(A)-(I). (B)-(IT), (C)-(IV). (D)-(IIL)

Option ID :- 1953,

Option ID :- 1954,
(A)-(IN). (B)-(I. (Ci-(T), (IN)-(1IT)

Option ID :- 1955,
(A)-(IV (By-(D. (Ci-(IT), (D}-(I1I)

Option ID :- 1956,

Question ID:- 492

Arrange the countries based on descending order of Human Development Index Value in

2019

(A) Norway

(B) Bangladesh

() India
(D) China
(E) Nepal

Choose the correct answer from the options given below :

Ttz = #1 2019 9= faom =% 8 =% 299 F 397 S0 F4 1§ o

(A) =
(B) =T
() g
(D) =m
(B) 7

419 Toe T @ © § HE 39 F =Ed A
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Options:- greee

Option ID :- 1965,
(D). (A), (B). (E}. (C)

Option ID :- 1966,
(A), (D). (B). (C). (E)

A ’

Option ID :- 1967,
(A (D) (By (E). (C)

Option ID :- 1968,

Question ID:- 426

Hari's =core 1n the statistics in the first vear is 76, whereas the class average iz 68 with a
standard deviation of 5. What 1s Har's Z-score?

el § 798 99 ¥ 71 % 5F (6 8, JEF T4 F HET 5% A9 [F9eE & 1Y 68 2| 7 1 S5-hR

e 27

Options:-
1.5

Option ID :- 1701,

Option ID :- 1702,
1.2

Option ID :- 1703,
. 14

Option ID :- 1704,

Question ID:- 416

If the mmeome effect for a good 1= 1n the opposite direction as the substitution effect. but the
substitution effect dominates then the good 12

afg Tt =g & e Ay, wioears wwE 6 9 e o 8 gsar 2, g wiesms v i uae
TEA1 B, A 97 A R

Options:-
Normal HEHF

Option ID :- 1661,

’

;')ption ID :- 1662,

, Giffen fire
Option ID :- 1663:

. None of the above T H H B A

Option ID :- 1664,
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Question ID:- 419

Which of the followings 1s not a marginal condition of pareto optimality criteria?

F=AtelEa § | FiA -] 9921 S299 A0Sl 1 U |@EE 9 A6 R

Options:-
MRS, =MRSZ, =1
A * 7P,
Option ID :- 1673,
w

MRTS} ;= MRTS} . =—

Option ID :- 1674,

Option ID :- 1675,

I r _W
MRPT ", = MRPT_, i

Option ID :- 1676,

Question ID:- 428

A simultaneous equation model 1= said to be over-identified if.
i':F. .'iq_n -‘EII]E I"q’ =19 HISo1 T—l’ﬁ m%_:ﬂru. 30T T—{'J_F:T TN -_F?. q-i:':

Options:-

Unigue numerical values of the structural parameters can be obtained

Option ID :- 1709,

More than one numerical values can be obtained for some of the parameters of the
structural equations

TEATEF THET F PD WUES F O UF H S19F S qed W e s e A
Option ID :- 1710,

Unique selution of all the struectural coefficient is not possible

T HIEATEEE T H AGd g qHEE 59 A
Option ID :- 1711,

Option ID :- 1712,

Question ID:- 467

prepp
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Which of the followings are azsumptions of ordinal utihty analysiz? o
(A) Consumers are consistent in their preferences

(B) Consumer can measure the total utility received from any given basket of goods
(C) Consumer preferences follow transiavity

(D) Consumers are non-satiated with respect to goods they confront

(E) Consumers are rrational

Choosze the correct answer from the options given below :

f=Ea GG A EHUGINE M e e A e R F A TFIEON TRl R 7

lA]‘ ?‘T:TIT"}T[ 31117-[ '.lldrl-l'?r!‘ll Iit'Eﬁ HHI#W%

(B)  I9YTH1 FeT THATTAT F1 9Em e ofi e FoEags E e
(C)  FTIRT TR B S O A

(D) T 9 A AT A ° UiEE T A

31 feu o fawear § O TF 39 #7999 FiEw

Options:-

Option ID :- 1865,
(C), (D), (E) only 3= (C). (D) 37 (E)

Option ID :- 1866,
. (A), (C), (D) only &= (A), (C) 37 (D)
Option ID :- 1867,

(A). (B). (C)only F3 (A). (B) 3 (C)

Option ID :- 1868,

Question ID:- 424

The Central bank poliey of altering the domestic credit extended by it in an equal and
opposite direction to the varlation in foreign exchange reserves =o that the monetary base
remains unchanged 1= called

F510 S gHT UoH WE] O F (Geul §51 HUSE § qi"sd & @0 gaE wn G T F ased, s
otz 09w 90Eag =, Fi A0 Faea &

Options:-

. Stabilization fEEE
Option ID :- 1693,

. Monetary expansion Hifgw fawam
Option ID :- 1694, '
. Fiscal expansion T [@zm
Option ID :- 1695,

. Sterilisation  wfimer

Option ID :- 1696, '

)
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Question ID:- 455

Which of the following modern Indian Economic thinker had not gone ahroad for study or

work?

F=feEs 3 FE-m S anAE- e s Fems W wE e F e = T8 T

Options:-
Mahatma Gandln  w=remy T

Option ID :- 1817,

’

Option ID :- 1818,
B.R. Ambedkar ®.4F. A=5H

. ]

Option ID :- 1819,
Deen Dayal Upadhyvaya =5 === s

)

O tion ID :- 1820

Question ID:- 482

Match List I wath List IT :

List I List II
(A)  Absoclute Income Hypothesis (I) Milton Friedman
(B) Relative Income Hiypothesis (Ili J.M. Keyvnes
(C) Permanent Income Hypothesis (I} James Dusenberry
(D) Life Cycle Hypothesizs (IV) Franco Modiglani

Choose the correct answer from the options given below ;

T=H-1% #ra 1 F-11 e it

=11 FE-11
(A)  F9E A TR (I) Toe= F=
(B) HME HE FHA] Il F.7E. FE
(C) Tl A/ T (ITT) =9 =He]
(D) == = AT (IV) W11 HIERT=H

/= Tou T EEedr § F A7 39 F F99 FI0EA0

Options:-
(A)-(IT). (B)-(I). (C)-(IV). (D)-(I1I)

Option ID :- 1925,
(AM(ID), (B)~(III), (Cy=(I). (D)-(IV)

Option ID :- 1926,
(A)-(IV). (B)-(II). (C)-(IL). (D)-(I)

Option ID :- 1927,
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(A)-(TIT), (B)-(IT). (C)-(T). (D)-(IV)
Option ID :- 1928,

’

Question ID:- 421

“Menu Cost” 1= a concept used in

Options:-
. Classical economics FATEEE SEI '
Option ID :- 1681,
Option ID :- 1682, '
New-Keynesian economics  Ta—Fh=G1% AU ,
Option ID :- 1683,
Kevnesian economics  =i~d @l EEE |

Option ID :- 1684,

Question ID:- 429

The fitted regression equation 1= given hv ‘YI =—10+0.6X. What is the value of the residual
at the point X = 40. Y = 60.

wo1fus wieEE WA Y, =—10+ 06X, F =9 § fom w21 X =40, Y = 60 forg w smtae =1 g

Options:-

Option ID :- 1713,
. 46

Option ID :- 1714,
Option ID :- 1715,
L1

1

O tionID :- 1716

Question ID:- 485
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Match List I wath List IT :

TastI List T

(A) Size matters in international trade (I} Paul Krugman

(B) Economies of scale and monopolistic (II) Mercantilists
competition in international trade

{C) Technological gap theory of trade (ITI) MLV, Posner

(D) Zerc sum game of trade (IV) The gravity model

Choose the correct answer from the options given below ;

g1-1 % T4 =1 g=-11 faem i

=1 TIT
(A) AFIETE W G WTRT FOHE 2 ()  «fF FE
(B) gm =mw # dAE A fmstEmw i (D) At
(C) =W =1 TEirE #a g (ITT) wr =, a
(D) =W 1 S AR IV) = it wise

5 foo e ol § § TF T 99 i

Options:-
(A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

Option ID :- 1937,
(A)-(IV), (B)-(I). (C)-(II), (D)-(1D)

Option ID :- 1938,

’

Option ID :- 1939,
(A)-(IIT), (B)-(IV). (O)-(I), (D)-(II)

Option ID :- 1940,

Question ID:- 486

Match List I with Tast 11 :

ListI List IT
(A) Bural-Urban migration (I Arthur Lewis

(B) Economic develpoment with unlimited (II) Gunnar myrdal

supply of labour

{(C) Process of cumulative causation (ITTy Raul Prebisch
(D) Decline in terms of trade of primary (IV) Harrs-Todaro
commodities

Choose the correct answer from the options given below :
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-1 T F g1 e Fim

1.1 10
(A) g TEE (I) T2 ==
(B) 49 #* wMMmd I9mad & =g anEw (1D T e
(C)  T=Et FEETEA F T (IIT) 7= e
(D) ot T30 % =9Tw % vdl 5 o (IV) =f= zism

I oo 7 Ty 7 1 =1 =7 w7 == A

Options:-
(A)-(D). (BY-(IV). (C)-(II). (D)-(111)

’

Option ID :- 1941,
(A(IV), (Bi-(D), (C)«(ID), (D)«(I1L)

Option ID :- 1942,
(AT, (B)-«(IV). (C)-(IIT). (D)-(IT})

Option ID :- 1943,

Option ID :- 1944,

Question ID:- 448

Net migration refers to
I8 i i r a
Ao T304 =0 A9 7

Options:-

Overall level of population change rezulting from fotal migrants and emigrants

Option ID :- 1789,

’

Option ID :- 1790,

Does not include refusees and other lawful nugrants

Option ID :- 1791,
includes refugees only, S9H Fae TR wiget 210 2

’

Option ID :- 1792,

Question ID:- 501
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Given below are two statements :

Statement I If vou bought a product which now becomes subject to tax. you will be in a
hetter position to avoid the tax and the seller bears with a larger part if

vour demand 1= elastic while zeller’s supply iz inelastic.

Statement 1T : A tax on salt 1s hkely to be borne by the consumer.

In the light of the above statements. choose the most appropriate answer from the options

given below :

Eiic el 2o el e e A

Fug 1: Al w94 UF 39 WL AN0F A8 9 6 A9E ST 2. A a4 O 59 5FA F @57 2aa o

71 TG 2, A T F 39 AEAR 97 95 AW S 67 A o A S e g q

== T 7
Fug Il : 9% T AT AT F ITEE F gET F 9Sa R
_ . o e e
ITIH F4E R AR H, 4= B0 0 [ Fehey ﬂﬂm-ﬂqzj_ﬁ.ﬁzﬁlwrﬁiﬂlf_;

Options:-

Option ID :- 2001,
Both Statement I and Statement IT are incorrect &2 1 A7 [ A 7@ 7

Option ID :- 2002,
Statement I is correct but Statement IT iz incorreet  om [ o 2. =g =29 IITeg =

’

Option ID :- 2003,
Statement I iz incorrect but Statement ITis correct F99 17 2, w1 F99 ILTA 2

Option ID :- 2004,

Question ID:- 468

The binomial distribution can be used under the following conditions

{A) n the number of trials 1s finite and independent
(B) n. the number of trials is infinite and independent

(C) Each tral results in two mutually exclusive and exhaustive outcomes, terms as
success and failure

(D) P, the probahbiity of suceess is constant for each trial

(E) The probability of failure does not remain same for each trial

Choose the correct answer from the options given helow :
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T 1 W n. Hithd vd =g w2

AT 1 HATEAT P, WA TE 29 (ud =l 2

(A)
(B) el 1 W n, SA U w6 w2
(C)
D)
(E)

Fr5 oo e e B T A

Options:-
(A), (C) and (E) only

Option ID :- 1869,
(B), (C) and (D) only

Option ID :- 1870,

Option ID :- 1871,
(B), (C) and (E) only

Option ID :- 1872,

Fa5 (A). (C) 31T (E)

F4= (B). (C) #iT (D)

1

#5351 (B). (C) #1 (E)

Question ID:- 420

The strategy of choosing the policy which has the best possible outcome 1s known as

30 Hifg =1 =99 =4 1 WEIT, (5w 99T 999 9 21, Feawl B

Options:-
Dominant strategy  =iH42 WHEIT
Option ID :- 1677,
Maxi max foHiEsg
Option ID :- 1678,
Option ID :- 1679,
Maxi min S

Option ID :-

Question ID:- 432

6 3 b
Findtherankof A=|-10 2
5 2 8
3 5
e wE T, A=-10 2 8§
5 2 3
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Options:-
3

Option ID :- 1725,
2

Option ID :- 1726,

Option ID :- 1727,
0

Option ID :- 1728,

Question ID:- 442

In the context of the transaction demand for money. the square root rule was developed by

w1 Fafra win 35w g Foam P et v

Options:-
Kydland - Prescott Trsamz-Tem2

Option ID :- 1765,

Option ID :- 1766,
Boumol - Tobin ~ 391-214H
Option ID :- 1767,

J. M. Kevnes 5,70, 4

Option ID :- 1768,

’

’

Question ID:- 454

In which year, Gross Domestic saving rate was the hichest?

FH-H T0 §, T oe] S=d 57 qF0aE 417

Options:-

. 2004-05

Option ID :-' 1813,
. 2007-08
Option ID :- 1'814,

Option ID :- 1815,
2016-17

’

Question ID:- 500
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Provide proper chronological order of different schemes launched in India

(A) Pradhan Mantri Jan Aushadhi Yojana
(B) Pradhan Mantit Ujjwala Yojana

(C)  Atal Pension Yojana

(D) PM Jan Dhan Yojana

(E)  Avushman Bharat Yojana

Choosze the correct answer from the options given below :

T o fr g ¥, s, % [ =, )
qEE ° 3% o TE T = # 3 e S e S

(A)  TIE T S AT =T
(B)  waw WA IESEE Tl
(C)  #52= 99 FraA

(D) o9 w1 S-G9 e

(E)  SgHH wHd I

#m fou o fawew © 1 wE I o = i

Options:-
(C). (B). (A). (D). (E)

Option ID :- 1997,

Option ID :- 1998,
. (D). (A (B).(C). (E)
Option ID :- 1999,
. (D) (C). (A (B). (E)
Option ID :- 2000,

Question ID:- 440

When MPC = (.75, a decrease in taxes Rs. 20 crore will increase GDP by

=@ MPC = 0.75 2, 7 #1 7 200 15 B9 % 92 99 8§ GDP (9% ww 30915) | Tt 3ig =rii?

Options:-
. Re. 200 croves 200?&&3'
Option ID :- 1757,
. Rs=. 100 crores 1003?{-‘!3
Option ID :- 1758,

Rs. 600 crores 600 TS

Option ID :- 1759,

’

1
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Option ID :- 1760,

Question ID:- 483
Match Tist T with List I :

List I

(A) NMonev supply and price level 1n an

economy are indirect proportion

(B} Inverse relationship between
unemplovment and rate of wage

inflation
(C) Profit as reward for innovation

(D)  Policy ineffective proposition

(I)

(1T

(I1II)
(IV)

List II
AW. Phillips

Fisher

Robert Lucas

Jozeph Schumpeter

Chaose the correct answer from the options given helow :

g1-15 g =1 g=i-11 faem it

=1

(A) TRHT o ssTEE o Ll m‘{ﬁ Lci g = (D)

e in} i [ ol i, | 2 Nk
(B) =TSR v TaSd] FHIG H TiAeH e

(C) = T & Tov gohm Ta=y =
(D) it e TiEms

= 5 o faweq § § TE 35 #1999 i

Options:-

Option ID :- 1929,
. (A)-(IID). (B)-(IT). (C)-(I). (Dy-(IV)
Option ID :- 1930,
. A, (B)-(IV), (C)-(IID), (D)D)

Option ID :- 1931,
(A)-(IV)., (B)-(LLD). (C)-(IL. (D)-(I)

A )

Option ID :- 1932,

’

(II)

(ITII)
(IV)

&~

T=1-11
T, FIATH

Question ID:- 460
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Basic characteristics of an under developed economy

(A) A low level of technology and poor human capital
(B) Higher level of GDP and percapita income

(C) A high proportion of the labour force engaged in agriculture and low agriculture
productivity

(D) A high proportion of domestic expenditure on food

(E)  Higher incidence of poverty

Choose the most appropriate answer from the options given below :

Tt sy e s & Hifers =5
(A) 7= T =R T g O A

(B)  TF oI 3A91E UH Ui =4 {19 H AT

(C)  #w =i =l I=°1 BT T FT 0F FE P IR T F
(D) TE-TEE T I W
(E) s i #Afeewan

419 Tou 0 fawedl § 9 A7 39 F 999 HIE

Options:-

;)ption ID :- 1837,
. (A). (O). (B). (E) only A5 (A). (C), (B), (E)
Option ID :- 1838,

. (B). (D). (E) only ==& (B). (D), (E)

Option ID :- 1839,

. (B) only  #ha« (B)
Option ID :- 1840,

’

Question ID:- 430

If the demand function is : P=35-2x—x" and the demand x, is 3. What will be the
consumer’s surplus?

A% T F FE 2 P =35-2x—x" U9 B xy 7 3. T IR aiaEE 9= w0 e

Options:-
27

Option ID :- 1717,

Option ID :- 1718,

. 60

Option ID :- 1719,
20

’

Option ID :- 1720,
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Question ID:- 496
Arrange the following chronologically in arder of their vears of first occurrence:

(A) Environmental Kuznets Curve Hypothesis

(B) Limits to growth theorem

(C) Bouldings ‘The Economics of Coming Spaceship Earth’
(D) Jevon's Coal Question

(E) Raechel Canson's Silent Spring

Choose the correct answer from the options given below :

a3 Geell W0 EF % 90 % FEEEEET AR i
(A) T FEL FAACE a6 TR
. m~ 2 u -
(B) Iz F o oz
(C) == W U W SAREaAE A e
(D) = #1 FE =T

(E) = 0 W gieee 2

Hi= 20 0 EEeT § ° TR 39 F wh Fian
Options:-

(E). (A}, (B), (D). (C)

A ’

Option ID :- 1981,

Option ID :- 1982,
(D). (A) (E). (C). (B)

Option ID :- 1983,
(E). (D). (C). (B, (A)

Option ID :- 1984,

Question ID:- 433

2

Integrate :
x+2
Iz ~ =3
x+2
Options:-
dx
—+tc

(x+2F

Option ID :- 1729,
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Option ID :- 1730,

%—;x +4loglx+2)+e
Option ID :- 1731,
X o _ox+e
9

A

Option ID :- 1732,

Question ID:- 458

Monetary policy instruments are

{A) Changes in public expenditure
(B) Changes in taxation

(C) Open market operations

(D) Bank reserve reguirement

(E) Interest rate policy

Choose the most appropriate answer from the optlons given below :

A

(A)  TTAFEE EE § 9
(B) =01 ° "

(C)  EE-"EE FEEA
(D) &% FARfET AETIFan

(B)  =ars o diE

= f5u T T § O o T F =9 i
Options:-

. &). (B only Fa (A). (B)

Option ID :- 1829, '

. (A).(B).(C) only T (A). (B). (C)
Option ID :- 1830, ,
Option ID :- 1831,

. {B). (D). (E) only =& (B). (D), (E)

Option ID :- 1832,

Question ID:- 499
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Criteria and weights asszigned by the Fifteenth Finance Commission of India for Horlzontal

Devolution:

(A) Avea

(B) Forezt and Ecology
(Cy  Income Distance

(D) Tax and Fiscal efforts

(E) Demographie performance

Choose the correct answer from the options ziven below :

(A)  #Ewe
(B) = H° urEEE
(C) =/ A=

(D) = AR A v

(E) FAF I FEHEA

H19 oo M fawel B 1 oE T F1 =39 A

Options:-
(D), (B). (E). (A (T)
Option ID :- 1993,
(B). (D), (A (E)(O)

’

Option ID :- 1994,
(E). (A), (D), (C). (B)
Option ID :- 1995,

’

Question ID:- 447

In Harrod-Domar Model, if the growth rate of income is 8% and the ¢apital output ratic 1s 4%
then the saving rate must be

FTz-=I Hisd #, AT AW F g T 8% B AW -G AW 4% B, A 5= il g 7L

Options:-
32%
Option ID :- 1785,

2%

Option ID :- 1786,
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Option ID :- 1787,
1/2%

Option ID :- 1788,

Question ID:- 463
Which of the following are correct?

(A) Current account includes merchandise export

{B) Current account do not include merchandise export
(C) Current account includes invisible export

(D) Current account do not includes invisible export

(E) Current account includes both merchandise exports and imports and invisible exports
and imporis

Choose the correct answer from the options given helow :

G R R AT fear e e i T e

(A) =7 @W ¥ FivifEE 9w afta 26w

(B) =17 =W § A= T St a8 2 2

(€)= =E § 57 e st =2

(D) =) & | W5y HAE At T e R

(E) =] @ & Jifvifsa =ed 1 F@W A1 e affad 5 7 a2 s579 9w A i §@

ST B Tl U & e e B o s e e o o e 2 e LA

Options:-
. (4. (B) and (C) only Fa (A). (B) 3R (O)
Option ID :- 1849,

7

Option ID :- 1850,
(A). (D) and (E) only FA (A), (D) 31 (E)

Option ID :- 1851,
(C). (D) and (E) only Fa (C). (D) 3 (E)

Option ID :- 1852,

Question ID:- 456
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Which of the following econditions are satisfied for a rationale firm to achieve its equilibrium
by maximising Q= f(L.K) subject to C=wl +7K .

o0
(A) Bk W
80 1
cK
® 22,099,
ar’ dk
© L0 anal%sg
ol oK~
(D) C?‘:Oand Q{O
oL oK~
43 3 N
) ["? ‘Q,];["Q
ar Jlex® )" | azek

Choosze the correct answer from the options given helow :

TRET T THET FH G0 Bee MR F F 6 e 9 ° T I e e 2 e Q= f(LLK)
ATRaETR B T w5 e o C=wl+rK 7

o
W
Ay Ee=—
GQ 't
cK
53 &
m 22,0729
ar- oK~
61 al
(C) _‘?czl[} and Q}O
£ 5K’_

(D) Q{{}andGQ{G
al” oK~

o (2f22)1( 28]
" \er ek’ 8LeK

= fon T fawew § 9 59 3 1 9a Few

Options:-
(A), (B) and (E) only == (A), (B) 317 (E)

Option ID :- 1821,
(A), (D) and (E) only Fa (A). (D) 517 (E)

A )

Option ID :- 1822,
(A) and (E)only  =aet (A) 217 (E)

Option ID :- 1823,

’

Option ID :- 1824,

Question ID:- 473
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If we have ohjective function involving n variables :

U=fX,.X;.X;.....X,) subject to ¢(X;.X;.X;....X,)})=0. The second order condition for
extremum to be

(A)  For maximum |H,| <0.|H|<0...
(B)  For maximum |Hy|> 0/H;| <0....
(C)  For maximum |Ha| < 0.|H;|>0...
(D) For minimum |Hy| < 0./H;|<0....
(E)  For minimum |Hy|> 0JH,|>0....

Choose the correct answer from the options given below :

% FER OTE n W K WEE FH 9 g EE R U=f(X.X,.X,...X,) ¥ @99

HX, . X,.X;.... X, ) =0 w=dimm =g ot = feafa vl

(&) wfeFR T fom [H,

<0.[H;| <0...

(B)  wifoFam & fom |Eg

> D.|§3| £ 000,

(C)  =ATRAY = oo |§2

< D.‘Ea‘ > (...

(D) = o |2

<0|H;|<0....

(E)  =rem % fem |H,

.>{}.|IT3|>U....
d/= feu 7 faFeT O O 98 390 #9949 FOA0

Options:-
(A) and (D) only  Fa+ (A) 37 (D)

. )

Option ID :- 1889,

(B) and (D) only Fa (B) #1 (D)
Option ID :- 1890,
. (O)and (Eyonly F (C) 3t ()
Option ID :- 1891,

’

’

Option ID :- 1892,

Question ID:- 493
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Arrange the states in descending order based on percentage of population who are
multidimensionally poor based on NITI Aayvog Report 2021.

(A Bihar

(B) Odisha

(C)  Rajasthan

(D) Uttar Pradesh

(E) Madhya Pradesh

Choose the correct answer from the options given below :

Hifq s i 2021 F1 o snaw @ s S e S F 9iand § S S T w5

IETE T e

(A) TeEm
(B) =
() TR

D) T

(E) ==

419 5o 0 fowedl § ° TR 39 1 A9 A
Options:-
(A), (D, (E), (C). (B)

Option ID :- 1969,
(A, (E). (€). (D) (B

Option ID :- 1970,

’

Option ID :- 1971,
(A). (B). (C). (E). (D)

Question ID:- 474

Which of the followings conditions prevail in the long run equilibrium of industry for
achieving optimal resource allocation
(A) The cutput 1= produced at the minimum feasible cost

(B) consumer pays the minimunm poszible price which just covers the marginal cost of the
product

(C) Plants are used at full capacity in long run
(D) Firms earn supernormal profits

(E) Perfect competitive firms and price mechanism operates

Choose the correct answer from the options given below ;
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5217 % HaeH 8 SAdTed] 3Ea% SETEA S W i wg w4 o1 Safaai = w27

(A) A" =M S W 9e F o0 2 R

(B) 39T AR TWIES G2 F WEH A1 (560 30 6 Hme w@ee me e

(C)  =Aad: HFE 1 T @HAT F1 0 7141 2
(D)  wi=m +1 T 3 w5 AieF = A E
(E)  #Y9 Niceqaiens Siawsr 31 559 THEE 99 FEE 6 B

Fr fou T fowegi 4 9 =81 = = =999 e

Options:-

Option ID :- 1893,
(C), (D) and (E)only 47 (C). (D) 7 (E)

Option ID :- 1894,
(B). (D) and (E) only == (B). (D) 3717 (E)

’

Option ID :- 1895,
(A). (B) and (E) only &= (A). (B) #i7 (E)

A ’

Option ID :- 1896,

Question ID:- 444

(One of the various qualitative instruments used by the central bank during inflation 1=
= 8 1 fafis e STl § 9w S0 SR A 9o THE 59 I F 9 P

Options:-

. v - i - >
Raise margin requirement THAT= AETIHRAT ] "G
L]

Option ID :- 1773,

1

Option ID :- 1774,
Reduce margin requirement THH= AETIFa] i F2H1
Option ID :- 1775,

. . . - ) .
Fix margin requirement  T8HG SAETHFA F 000 HiAl

Option ID :- 1776,

’

l

Question ID:- 491
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Arrange the different schools of thought In a sequence of their occurance starting from the
oldest,

(A) Phvsiocrats

(B) Keynesian economics

(C) Classical economics

(D) New Kevnesian economics

(E) Monetarist Counter revolution

Choose the correct answer from the options given below :

fo—Tim Femame w1 798 TEE 9 9F 760 5 FEATEEN A F9 1 9
(A)  TEEET

(B) e s
(C)  FEEE ghmE
(D) =9 FHET S

419 Tov 70 TaFea § O T2 9 F1 999 S
Options:-

. (A}, (B), (C). (E). (D)

Option ID :- 1961,
(A), (Cy, (E). (B). (D)

. ’

Option ID :- 1962,
(A), (B), (E), (C). (D)

Option ID :- 1963,

Option ID :- 1964,

Question ID:- 435

In which stage of the product cyvele model. the imitating country starts producing the product
for domestic consumption?

TS WA A= HA-H AT H, FTHE S A 59 ] T F A S I 95 ol
27

Options:-
. Stage-III 9% - III
Option ID :- 1737,

Stage -II =& — 11

Option ID :- 1738,

1
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Stage-1 e -1
Option ID :- 1739,

Subject : 1_PART_B_Set1
Question ID:- 508

Read the ziven passage and answer the questions:

Although glohalisation is often accused of Increasing world poverty, the fact is that poverty
would probably be even more widespread without globalisation. What is true 1= that
globalisation did not bhenefit all nations. What globalisation can be blamed for i1s not
spreading the benefits of increased efficiency and openness that come with zlobalization more
evenly and equitably to all nations. The stock of Foreign Direct investments around the
World states that in 2010, the inward stock of FDI of developing countries was 48 percent
that of developed countiies. while their stock of outward FDI was about 17 percent that of
developed ecountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made I many different nations. The reason 15 to mimmize production costs. Foreign
“sourcing” of inputs iz often not a matter of choice to earn higher profit. but simply a
reguirement to remain competitive, The carry Trade 1s the strategy in which an investor
borrows a low vielding currency and lends (invest in) a higher vielding currency. The sk 1s
that if durng the investment period, the higher wielding currency depreciates against the
lower vielding currency hy a higher percentage than the positive interest differentials. the
investor will lose money.

=1 T = U va e w5 S

AT v F1 WA v 1 e ® gl AW S S 2 S 98 923 5 e #5 e
Sy F f&0 F0 F Il % 9 g7 T FEGEA v GENE F o . aE# e E
Sverrn o =g T 79 F T 59 EY Ud guged o WA 3| fava w | el ueme e o =i
a9 2010 7 foiaa 590 1 URSUE F AT TiF 48% o1 FEh IEa 29 F1 ST AEE T2 o
17% 97| =9 w=argm A4 Ao (TS ) wa 7 TR A=AgE Al g 3eE H osas [
G F 9P wE OEeE # A S g [EE T T 2 A IEE el i Ead F6 F EE A
=10 77 a1 v 990G 2| A =MW O i 2 e e vF e oaEEl 951 39 o9 2 30 30 3
AR W H 3R (FEw) e 2 s fEe st i I e am R e gm e
E il B2 2 0 e e € e e e e 1 2 ot ) e e 0 o O o e R e 0 e et

Which of the following reflects the most correct sense of the New International Economies of
Secale (NIES)

Ffemas @ O a9 O 96 A= 8E aE (TAATSEEE) 1 G A6 2EEl 3 iagnes e 7

Options:-
All the parts and components of a product 12 manufactured in the host countrv only

FeTEF HU1 4T UE HEH] R A Sge 290§ Al [[EEm R A
Option ID :- 2029,

When all the parts and components of the product manufactured in the host country, it
minimize production costs in each of the producing country

’
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FEAT AT F A =l E
Option ID :- 2030,

Cheaper mputs from different countiies are required to remain competitive

THEF T T F 0 A T H AT 300G H AT T R
Option ID :- 2031,

Option ID :- 2032,

Question ID:- 506

Read the given passage and answer the questions:

Although glehalisation is often accused of increasing world poverty. the fact is that poverty
would probably be even more widespread without globalisation. What is true 1= that
globalisation did not bhenefit all nations. What globahisation can be blamed for 1s not
spreading the benefits of increased efficiency and openness that come with globalization more
evenly and equitably to all nations. The stock of Foreign Direct investments around the
World states that in 2010, the inward stock of FDI of developing countries was 48 percent
that of developed countries. while their stock of outward FDI was about 17 percent that of
developed eountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made 1n many different nations. The reason iz to minimige production costs. Foreign
“sourcing” of inputs i= often not a matter of choice to earn higher profit, but =imply a
requirement to remain competitive, The carry Trade 1s the strategy in which an investor
borrows a low yvielding currency and lends (invest 1n) a higher yvielding eurrency. The risk is
that if during the investment period. the higher vielding currency depreciates against the
lower vielding currency by a higher percentage than the positive interest differentials. the
investor will lose money.

= TTE = Us vE S U Tl S 5

=TT vt 1w fava 1 e 8§ gig w1 w2 S 9w 923 2 e # fee
Sy A FE0 T A F T g S FEEE U gEA F oo = 9 w A
v F =g O 990 F ¢ 59 €9 U4 O6ged o W A 3| fava W A el uene faee = =i
g 2010 § TG 597 1 RS T AT S 48% 91 Stk SS9 1 ST AT T2 o
17% 91| =9 Fa0gEg AGH WoFEd (THEEE ) A B 0 A8 T g HieE J oAigs e
FEE] R AP A WOZR ) (S99 590 g FiEE T T 2| AR Seae Sl 1 A e R
{51 = =1 vF WA 2| T MW O | 2 (e A OF 6 eaEEl 45 59 o 2 30 36 3
AT 71 H 2Ee (AR Fe 2| = A sEta A 2 = ST 5y SR 3
Ei R R e A e e | R e e e e o 2 G o o e P . i e R e 2t e

Which of the following is true?

=eiEs o H A W OEE A Y

Options:-

. Because of globalization poverty has increased 1n all the countries of the world
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Option ID :- 2021,
Because of globalisation poverty has reduced in all the countries of the world
Hfvasm = For fava =+ vl oo | e § w5 e 2
Option ID :- 2022,

Without globalisation world poverty would probably be even more widespread

o Afvasm = fava 9 7 T S Hiew 9wl 7
Option ID :- 2023,
Without globalisation world poverty would probably be even less widespread

A A

e EV N, e o N EY
T A9 F =994 9 sl 798 F8 5 Tl 6

Option ID :- 2024,

Question ID:- 507

Read the given passage and answer the questions:

Although glehalisation is often accused of Increasing world poverty, the fact is that poverty
would probably be even more widespread without globalisation. What is true 1= that
globalisation did not benefit all nations. What globalisation can be blamed for is not
spreading the benefits of increased efficiency and openness that come with zlobalization more
evenly and eqguitably to all nations. The stock of Foreign Direct investments around the
World states that 1n 2010, the inward stock of FDI of developing countries was 48 percent
that of developed countiies. while their stock of outward FDI was about 17 percent that of
developed ecountries, The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made mm many different nations. The reason 15 to mimmize production costs. Foreign
“sourcing” of inputs iz often not a matter of cheoice to earn higher profit. but simply a
reguirement to remain competitive, The carry Trade 1s the strategy in which an investor
borrows a low vielding curreney and lends (invest in) a higher vielding currency. The sk 1s
that if during the investment period, the higher vielding currency depreciates against the
lower vielding currency by a higher percentage than the positive interest differentials. the
investor will lose money.

= T T v e i e S

AT v 1 U a1 e | iy w1 SEwE e S 2 S 9w 923 2 B e # fee
Sy #1 fwd F0 § Il % 97 9T = FEGE v gEnE & o . aE# e E
Srdrrn o =14 Tl 79 % T 59 B9 U4 g6ged o W A 3| favg w | el uee e o =i
9 2010 5 TowEa 591 1 UESIEE T AT iF 48% 91 FEE [T 59 F1 T AEE D20 S
17% 97| 79 =g A4S Ao (TIEE ) WA 7 TR A=gE Al g 3eE Hosas [
FEITE F AP UF HEH (A GO G [ A T 2| AR Se @ # gAad F S E
=10 77 a1 v 990G 2| A =MW O i 2 e e vF e oaEEl 951 39 o9 2 30 30 3
AR T H 3w (FEw) e 2 e fEe aEte i 2 oI e am R e g e
== Wieel | HEAEF A (HEAA § A 0F geaniae 7 & S0 $erd. e w5 e fi ae weoa)

What for globalization has heen blamed?
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Options:-

. Globalisation has neither increased efficiency nor openness
AT 7 7 7 FEAFHAT AN T 7 g ww

Option ID :- 2025,

(Globalisation has increased both efficiency & openness

AfTaw 3 FHEGAA T G AE A 3 5 7
’
Option ID :- 2026,
(Globalisation has increased efficiency but not openness
Afvawn 3 FEHTE T Jig F S TeTE T2 5w
’
Option ID :- 2027,

O tion ID :- 2028,

Question ID:- 509

Read the ziven passage and answer the questions:

Although glebalisation is often accused of Increasing world poverty. the fact is that poverty
would probably be even more widespread without globalisation. What is true is that
globalisation did not benefit all nations. What globalisation can be blamed for is not
spreading the benefits of increased efficiency and openness that come with zlobalization more
evenly and equitably to all nations. The stock of Foreign Direct investments around the
World states that 1n 2010, the inward stock of FDI of developing countries was 48 percent
that of developed countries. while their stock of outward FDI was about 17 percent that of
developed countries. The New International Economes of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made 1n many different nations. The reason is to mimimise production costs. Foreign
“sourcing” of inputs iz often not a matter of choice to earn higher profit. but simply a
reguirement to remain competitive, The carry Trade 1s the strategy in which an investor
borrows a low vielding currency and lends (invest in) a higher vielding currency. The sk 1s
that if during the investment period. the higher wvielding currency depreciates against the
lower vielding currency by a higher percentage than the positive interest differentials. the
investor will lose money.
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=1 TTE = US v A U We S A

FTATF ST F WA @9 F e 9 gig A S A6 2 S Aw 92 2 T e Fe
Sy TR FEO T IEE F T e 3 FEET U geE F o W e T o .
v F =g T 99 F o0 59 €9 U4 Ouged o W A 3| fava W A fEeel uene e o=
g 2010 § 1954 597 B UEEIHAE T AR =i 48% 91 F=eE EEa 591 B S0h A19E 20 ST
17% =) 989 F=awgE A wuEd (AR ) Sa 2 7 A8 [ g A W AaE b
{510 9% 3= UF A 2| FA AT UF A9 £ (90 HEv UF F9 SEEE] q51 3aW ¢al 2 a1 39 39
s g1 o 3an (R e 21 s e sEt it 2 s e g e S g o
= WieeE H HEEEE S (A B A 9F JraRiae 7 ¢ A0 Fed: [ e fw w6 w

During the investment period. if the higher vielding currency depreciates against the lower
vielding currency by a higher percentage than the positive interest differential then which of
the following will occur?

Fam wafa F dwm, 58 #0 waw g F g ¥ I T 9 F I Tieee 3 geaem e oA

Options:-
The investor will lose money 4499 &1 94-214 70
Option ID :- 2033,
Option ID :- 2034,
The profit of the investor will remain unaffected 9% F =9 § F12 FF T7 1M

. ]
Option ID :- 2035,
None of the above =% # H =i A71

Option ID :- 2036,

’

Question ID:- 510

Read the given passage and answer the questions:

Although globalisation is often accused of inereasing world poverty. the fact is that poverty
would probably be even more widespread without globalisation. What is true 1= that
globalisation did not benefit all nations. What globahisation can be blamed for is not
spreading the benefits of increased efficiency and openness that come with zlobalization more
evenly and equitably to all nations. The stock of Foreign Direct investments around the
World states that in 2010, the inward stock of FDI of developing countries was 48 percent
that of developed countries. while their stock of outward FDI was about 17 percent that of
developed eountries. The New International Economies of Scale (NIES) states that — more
and more products manufactured by international corporations have parts and components
made in many different nations. The reason iz to munimige production costs. Foreign
“sourcing” of Inputs iz often not a matter of choice to earn higher profit. but simply a
requirement to remain competitive, The carry Trade 15 the strategy in which an investor
borrows a low yielding currency and lends (invest 1n) a higher yielding eurrency. The risk is
that if during the investment period. the higher vielding currency depreciates against the
lower vielding currency by a higher percentage than the positive interest differentials. the
investor will loze money.
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FTATF ST F WA @9 F e 9 gig A S A6 2 S Aw 92 2 T e Fe
ATEEAT F UE: 37 SAGF (9N 7 T 2 9F 979 7 0F dvaEm F oo 5 S w9 A8 mE R
Sy TR FEO T IEE F T e 3 FEET U geE F o W e T o .
v F =g T 99 F o0 59 €9 U4 Ouged o W A 3| fava W A fEeel uene e o=
g 2010 § 1954 597 B UEEIHAE T AR =i 48% 91 F=eE EEa 591 B S0h A19E 20 ST
17% =11 9= S=rige S 9uws (AESE ) SaEl 2 R SAgiE AEl g HieE | AlaE e
o1 77 Fae1 vF 99 2| A =2MT OF i 2 e FEeeE vF w0 o 951 59 o9 2 30 36 5
s g1 o 3an (R e 21 s e sEt it 2 s e g e S g o
= WieeE H HEEEE S (A 0 A F e 2 ¢ A0 Fed: Faes e F w5 w5 A

Which of the following is incorrect?

Frifefion 5 & i w0 7 27

Options:-
The inward stock of FDI to developing countries is less than that of developed

countries

TESITE w1 R go o g B e o § A =2 B 2
Option ID :- 2037,
The outward stock of FDI from developing countries is less than that of developed

]

countries
wrdiune F fawia = fi 9o 8 fawmeie 2o § 9= =i Fe w2

]

Option ID :- 2038,
Both the inward stock of FDI to developing countries and outward stock of FDI from
developing countries remained higher in developing countries than developed

countries

TaFTAsiel 230 FOAE w0 UA WA 2 S R S ) gl § e S 8 A

TEE

Option ID :- 2039,

forrraeier 5o T TESiHE F AT UH AeE =0 R 5o H qe B e 5o § e
w8

Option ID :- 2040,
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Subject : 1_PART_C_Set1

Question ID:- 512
Read the ziven passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that tume the priority was
for import substitution and export-prometion. Though same phenomenon is still relevant the
priority of Industrialisation has been changed. Industry helps not only for the self reliance
and reducing dependance on Forelgn Countriez but it creats massive emplovment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in critical domalns having strategic
importance. The recognised startups has been increased from 726 in FY 2016-17 to 65,861 1n
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs,
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb, 2022, the mimstry of commmerce and industry has allocated Rs. 2,791.29 crore to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Es. 8,785 crore have heen invested by supported AIFs in 574 startups and Rs. 945 crorve
has been allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototype. trails of products. entry of market and
commercialization. However. 1t 1s mmportant for sustaiming these startups for long term
development and for ereation of employment. Continued investment in this sectors. export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.

E IR LU L i e D B e s e 2l b e e e e e (= e v o

qEA HORE [gAE TEEUE AT @ 96d % sl 89 %6 3599 W IEE F [RE W fE9em Wm g
T Rl WEA 9 HEE AEE H WOEN9H U9 (9 A A WEEEar & e ot Fwie g gfew,
T T FAA £ AR T GAE A SEEA A 59 B OO TN I FAA 6| FEReT YW WO
2014 = TEEY THET T A $HE 90 TEEE U IR -2 T B Fred g ot i 5o 5 s
T 2| g =EE 5 a9 2016-17F 726 ® fAwad 2021-22 7% 65861 I 73 71 T =EEW
640 T3 1 Fef 7 3W 7@ B HI9F TR giad 4 2| T =AW 7 2 4, 9 SiEA Uh e danet
F [, FIEaE W AT HEaE FEE AT TEiE T A v e A e 5 e
56 =1 H INHe * IWEIGE GEe1 aiel S¥2i B RS w0 E oA 2022 sl F Ao e sEm
A 7 UHARSIAEE i 5. 2701.29 FAIS 1 G2 Hen 7 THEA 5. 6795 S 82 SReah a9
e (THTETRTH ) F % 8725 FAE 574 =RIG F TEEF UHAETH § 999 U9 arS W 9,
FTEIZIET, SEAT T THA, AN § TRy U Fivisee % S @Ea Fg 202122 9 e 56 A R
o7 5 =T o 3 S0 A9l 6T A ® o0 F, 945 S R UE SER T 7| 6 5 S 6
el AT AF AT WA T T 9 e AEeEE 6| A6 8 AT [Ee, FEm TEds v
TIEAY IEAE] A0 HFAl © AGEE UE 59 I00E1 R e W S HA A e UE Fa 2R

Which of the following i true 1n caze of startups in India !
qUE § AT F 5ed ¥ AEiEa § ¥ wE e 27

Options:-
The startups increased by 7.25% during 2016-17 and 2021-22

2016-17 % 2021-22 % ©hH =R 7.25% 4 9fg 77 7
Option ID :- 2045,

’

preep



www.prepp.in

The sectoral growth of startups is taken place by 56% == F1 WTT:I'IT—E,I'!:_", 56% ® 73 ®
Option ID :- 2046,
The startups have developed In important sectors like agriculture, tourism and
nrigation
Option ID :- 2047,

’

Option ID :- 2048,

Question ID:- 513
Read the given passage and answer five questions cn the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-prometion. Though same phenomenon 1= still relevant the
priority of Industrialisation has heen changed. Industry helps not only for the self reliance
and reducing dependance on Forelgn Countries but it creats massive employment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in crtical domains having strategic
importance. The recognised startups has been increased from 726 in FY 2016-17 to 65,361 in
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs,
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb, 2022. the mimistry of commerce and industry has allocated Rs. 2.791.29 crore to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Es. 8,785 crore have been invested by supported AIFs in 574 startups and Rs. 945 crore
has heen allocated under the scheme for a perod of four vears starting from 2021-22 to fund
the startups for proof of concept. prototyvpe, trails of products. entry of market and
commercialization. However. it 1s important for sustamning these startups for long term
development and for creation of employment. Continued investment in this sectors, export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.
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Wm%ﬂhﬁaﬁjmﬁwﬁrﬂmﬁﬁw#?ﬂﬁ—éﬁ#ﬁmwmﬁw'
w1 A TR 3 AR AW R OUAEATE UF AR ST R O 9 T ff) 7= =g,
mﬂmaﬁﬂtﬁﬁmmﬂmﬂmmﬂmﬂwqmwﬁhmmmﬁm
H FH TG B mmwwmmmnwwwmﬂwmwmw
2014 T TmETy = = A ‘:?m e TEMET T BE-TE = Hr.rd-guu TRt Shifas 2o o =999
TR 7| FEATE =Ea @9 a1 2016-17F 726 @ fAwad 2021-22 7% 65861 I05 75 7l A e
640 f5e1t & 5ef 7 3 7 oTig B Aluw T G 6 2| T = e A °, 90 Sifed ug A1 Sane
T T, TS WA T AT A HEY AT TSI T S vA = A e ¥ e
56 1 H INHS W IWFEIGE AETl o S92 H RS 7 M0 F w9 2022 FeEl H A uE SEn
AT A UHATEEIAEA 5. 2791.29 FA1E H G2 e 7 TEE © R 6795 03 82 SFewd Ham
i (vasreem) = 5. 8725 FS 574 WREAY F TEET UHAETH ¥ (€T UH A F O,
FTEIZISH, SEATE] S THA, WS § TS U AR F S =Ea 7 2021-22 9 9 w6 A R
Al AT TF AT T T AN OO e AEeaE 2| 0 O aHa Hae, FEm Tads m
E A e BT o 112 5724 0 1= | LM M- e Tomd e 1 = k1 =) e 1Y M 4 ) 12 01 o o o e B 1 e o1

Which of the following zectors have not developed recently in startups
TR T 7 A FE H A e 6 e

Options:-

IT services #E.71. Zam
Option ID :- 2049,
., Robotics TRl
Option ID :- 2050,
. Artificial intelligence ~ F#8 =T
Option ID :- 2051,

’

Option ID :- 2052

Question ID:- 515
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Read the ziven passage and answer five questions on the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that tume the priority was
for import substitution and export-prometion. Though same phenomenon is still relevant the
priority of Industrialisation has been changed. Industry helps not only for the self reliance
and reducing dependance on Forelgn Countriez but it creats massive emplovment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in critical domalns having strategic
importance. The recognised startups has been increased from 726 in FY 2016-17 to 65,861 1n
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs,
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb, 2022, the mimstry of commmerce and industry has allocated Rs. 2,791.29 crore to
SIDBI which inturn committed Rs. 6.795 crore to S2 alternative investment funds (AIFs)
while Es. 8,785 crore have heen invested by supported AIFs in 574 startups and Rs. 945 crorve
has been allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototype. trails of products. entry of market and
commercialization. However. 1t 1s mmportant for sustaiming these startups for long term
development and for ereation of employment. Continued investment in this sectors. export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.

T B8 T e 1 e = 1 o e e o =101 e e 1o o e e o e 1

qEA AORE (gAE TEEdE A #@ 96d % dEesl 89 %6 3299 W SEe F TRE W f9em W w g
T Rl WEA 9 OHEE AEE H TR0 UE (9 A A waiEsar o wE ot Fwie g gfe,
T T T £ AR TEHE GAA A SAEA A6 59 B O AN I FAA | TEReT YW WO
2014 = TEEY AT T A SHE 90 TEEE U G- I FEeaq Ot i 5en 5 s
T 2| g =Eam T a1 2016-17F 726 @ fAwad 2021-22 7% 65861 I3 73 71 A w=EEm
640 T3 1 Fef 7 3W 7 @ B A9 TR giad 4 £ T =AW 7 2 4, 90 SiEA Uh e danet
% T, FEaa WEih] 1 ST SHEEE B AT TSl v S v e A e ¥ e
56 =1 H INHe * 0EITGE 9Eel ool G925 B RS B 0 E oA 2022 s F Ao e sEm
A A UHARSIAEE i 5. 2791.29 FAIS H G2 Hen 7 THEA 5. 6795 S 82 SReah a9

Fle (vaETReE) #1 % 8725 WS 574 WRIH F FEEF TAETH § P9 Ug AT FO5Ew,
FIEEIET, IEA] 1 TA, AR H TS U A & o =T v 2021-22 9 T ' 9 6

fore =59 T & i =W =Gl o sty % s 945 Frs R T sEree i T 2| G4 3 =R w6
el AT AF AT WA T T 9 e AEeEE 6| A6 8 AT [Ee, FEm TEds v
TIEAY IEAE] A0 HFAl © AGEE UE 59 I00E1 R e W S HA A e UE Fa 2R

Which of the following meazures 1s regquired for sustaining startups?

TN 1 SR g 7 g B H A 8 S 9 2

Options:-

. Attracting FDI startups UES3E =24 &1 ARG T4
Option ID :- 2057,

. Tax holidays on startups =251 1 L TEd
Option ID :- 2058,

. Creation of domestic demands for startups #2259 F fem Tzl =0T *T Gram F
Option ID :- 2059,

’

’
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Option ID :- 2060,

Encouraging startups in defence sectors @1 #H H F=ZHT 1 W0 foa

Question ID:- 511

Read the given passage and answer five questions cn the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-prometion. Though same phenomenon 1= still relevant the
priority of Industrialisation has heen changed. Industry helps not only for the self reliance
and reducing dependance on Foreign Countries but it creats massive employment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in crtical domains having strategic
importance. The recognised startups has been increased from 726 in FY 2016-17 to 65,361 in
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs,
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb, 2022, the mimistry of comunerce and industry has allocated Rz, 2.791.29 crore to
SIDBEI which inturn committed Rs. 6.795 crore to 82 alternative investment funds (AIFs)
while Es. 8,785 crore have been invested by supported AIFs in 574 startups and Rs. 945 crore
has heen allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototvpe, trails of products. entry of market and
commercialization. However. it 1s important for sustamming these startups for long term
development and for creation of employment. Continued investment in this sectors, export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.

4= 120 0 T T WA ST T o STHE WS 9 991 % S o |

qA WOEE [gAE TEEdE GiEA @ 9Rd % sl 59H % 399 @ SErl F O[aEE W fEe AW oS
S off| =iy s fewm,

T 7| SFA 39 A0E SEE F TR U9 FEE S9EE F OIS B e
SR =h1 TR R TR TERTRAT R 9EEiaE R T SEE A e el v e w e
1 FH FAA 2 Wb THE GAA AH SEEN AW 59 B O IO I R | RRE UWE WO
2014 T TWEY T T A HE U TEENE T PR -0 T R See W F e e 5
T T | AT TR AN a9 2016-17 F 726 7 fawad 2021-22 7% 65861 I 75 71 T w=ew
640 T3 1 Fef 7 30 79 B ATF T gTAA 4 B T 2EAW B A 4, AU S Uh e danet
F [, FTEa W AT SHEar FEY e TR TE A v e A S g e
56 @1 ¥ wiHe # WHEIGE HEAl aiel S92 # EwEE w0 2 3w 2022 waadl # o anered vg wEn
T 7 UEHAESISSE 6 5. 2791.20 F1s W W@ e = T9EE 9 % 6795 w82 d%ftasd Haw
e (vsEvRvm) = w8725 IS 574 WRAY F TEE UARETH ¥ W9 UF ArsS o UEw,
FTEIETET, 3T SR GHAT, AR § TS0 UE aiieas S e w 2021-22 F gy w5 9 F
570 59 A5 F A AW =91 6 AAY % o 5, 945 FAS I AR AERE TS 7| G491 59 =R AT H
A WAt T AT T T T 9 B AEEE 2| H AR 4 A A, el mmde
LA i et | ot L ot e 1 (e - BT ot 2 == o i e 8 ) i P o M e e M B o R i

What 1= the prioritized objective of industrialization in terms of startups initiatives?

R FAEA F G5 § A % WAHE S5 A ¢

Options:-

o

Self reliance =TT
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Option ID :- 2041,
Employment opportunities TSR ST j3_'-?IFI AT

Option ID :- 2042,

Option ID :- 2043,
Export reduction a3 55 1

Option ID :- 2044,

Question ID:- 514
Read the given passage and answer five questions cn the basis of passage:

Since the second five vear plan. the Government of India has been emphasizing on
development of industry on promoting self reliance India. But at that time the priority was
for import substitution and export-prometion. Though same phenomenon 1= still relevant the
priority of Industrialisation has heen changed. Industry helps not only for the self reliance
and reducing dependance on Forelgn Countries but it creats massive emplovment for a
populated country hike India. The Startups India Programme started in 2014 which hence for
promoting new initiatives and infact industries in critical domains having strategic
importance. The recognised startups has been increased from 726 in FY 2016-17 to 65,861 in
FY2021-22, The Startups spread across 640 districts and created jobs more then 7 lakhs,
These startups have been recently developed in new domain and sectors of strategic
importance including development of IT services, hardware technology, software enterprises,
artificial intellizence. robotics and technology of banking & finance in across 56 sectors. As
on Feb, 2022, the mimistry of comunerce and industry has allocated Rs. 2.791.29 crore to
SIDBEI which inturn committed Rs. 6.795 crore to 82 alternative investment funds (AIFs)
while Es. 8,785 crore have been invested by supported AlFs in 574 startups and Rs. 945 crore
has heen allocated under the scheme for a period of four vears starting from 2021-22 to fund
the startups for proof of concept. prototvpe, trails of products, entry of market and
commercialization. However: it 1s important for sustamning these startups for long term
development and for creation of employment. Continued investment in this sectors, export
promotion and startups products. Innovation in new sectors and creation of domestic
demands for this products are important for long term development and attracting new
startups.
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How much amount has been allocated under the scheme of startups to find new startups for

proof of concepts, prototype and trials of produets, entry of market and commereialization?
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Options:-
Rs.2.791.20 crove ¥ 2791.20 15

Option ID :- 2053,
R=.6.795.00 erore % 6795.00 1=

Option ID :- 2054,

[

Option ID :- 2055,
Rs. 12,521 crore 3, 19521 #1=

Option ID :- 2056,




